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Q.54 fafafEa ¥ 3 aaa wwmit 31fE aret arer &1 ww Hife

Ans

2< 1. % 3nfl- 3nft =R 3mm

X 2. & STIE U WRT R

< 3. eI U AT E B

o 4. 37 TS B HargT il 2

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330173205
264330679313
264330679312
264330679311
264330679314
Answered

3

264330169170
264330663476

1264330663478
Option 31D :

264330663477

1264330663475
Status :
Chosen Option :

Answered
4

26433063010
264330246715
264330246714
264330246712
264330246713
Answered

4



Q.55 gt &t gfee A Y& a1 FT 99T HIfeigl

Ans o 1. 3997 H Arafey, oY, RIGTR & gar aR1 a1 gu @S &
X 2. vder fAfeig & iRt ) St eyt B 7
X 3. T HAR W I8 IR G9G & feb AI et Il T 37 T a7
< 4. AT VTSR gfedds 0ol & BR W 387 g ot

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

Q.56 P71 T B YR E?

25 1. TRGT BT =TV LN

X 2. - Y W Y AT

o 3. 39 Jeriedd T el
X 4. 9Ra 98 F9T H TeH B

Ans

Question ID

Option 2 ID

Q.57 fafeifEa gera’ &1 wanT 1 ¥ § {6 arafema & fog 9ée 32 aaa Hifo-
NehY Y JBTT ST
25 1. 3G A AT 37TST 379 ST BT 3T e W& fasa 1o o Siey

o 2. 3 @ ot fobelt & e aY R, O TR e WY AE R, @it 31 AT W A SRR
J R @l 2, T & e

2 3. BIE AT B BT BT YA & dl 3170 el @1 39 a1 GATd &1 S I T @l 8T 8| I8
AT g o

X 4. 59 Flergn ¥ ar fedt il faearg e Qg ol

Ans

Question ID

Option 2 ID

Option 4 ID

264330168488
264330660793
264330660794
264330660791
264330660792
Answered

3

1264330173208
Option 11D :
1 264330679326
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330679324

264330679323
264330679325
Answered

3

1264330169196
Option 11D :
1264330663578
Option 31D :
1264330663576

Status :
Chosen Option :

264330663575

264330663577

Answered
4



Q.58 ¥ 3nenf § g¥ e =nfEw

Ans

Ygifd 2reg & faa 2reg &1 T HIfSvl
X 1. Far
& 2.39BR
o 3.uH
K 4.

Q.59 fimfefEa ¥ & {5 arerr & aer 310 B ¥ vy 2 ugaH B

Ans

Q.60

Ans

2 1. I T S 3R | T
2 2. g8l BB 3mar?
o 3. T aga I I W&

X 4. U9 TR BH ARTI

&g 77 21 1 3fea e 2rez gfT-
EL-IC)

XA R
o 2. T
2 3.t
X 4.3

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

26433062024
264330242794
264330242793
264330242795
264330242792
Answered

3

26433063009
264330246709
264330246711
264330246710
264330246708
Answered

3

26433062035
264330242838
264330242837
264330242839
264330242836
Answered

2



Q.61

Ans

¥ omToT WfEd aaT @1 §1° T F Qg BY B AF fabed ¥ 3 Hifer
2 1. 3 Fomror ATenRa wdTar @ El
o« 2. 7 yuror Ifgq a1 T §
2 3. 19 WA & HTHR W §elT ET &l

7 4. 3 FywETOT Yerd @ T

Question ID :

Option 1 ID

Q.62 gi & waof 3ik AHeriep) PY MR FaT -l FIR 8 Fapar & 15 3m J 1feiep 3iifies, Ve

Ans

AT WY AT BT ST W1 arerd N 5 2reg Y adet g TE 87
1. fie
o 2. 0%
X 3. e
X 4. Hifeien!

Q.63 fau My 2reg &1 3fra fawiw 2reg gfav-

Ans

A

X 1. 351
o 2.fa=
PR
X 4.3

Question ID :

Option 1 ID

Status

Question ID

Option 2 ID

Chosen Option

264330169171

1264330663479
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

264330663482
264330663481
264330663480
Answered

2

264330164501

1264330645196
Option 2 ID :
Option 31D :
Option 4 ID :

264330645197
264330645198
264330645195

: Answered
Chosen Option :

2

126433062034
Option 11D :

264330242833

1264330242832
Option 31D :
Option 4 ID :

Status :
12

264330242834
264330242835
Answered



Q.64 oTHEA & 99 @R Bl A S-St € AN SIFd & arer o1 Haifties 3ugad s e fawer &

Ans

Q.65

Ans

farmar §?
X 1. 99 ISTHEA & 1 18 Pl Siep-3leb AT & ST §
X 2. T AN & S1B-31 i IASTHEA &b Yewil Bl ST &
o 3. ISTHEA & @ BT a7 011 17 & Steh-3les STd &
X 4. &= P I Sp-Si d TR P AT & ST &

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

forar & rainT Y gfee J 313 a1 HT 99 BIfSgl
2 1. IATaTd & fAIH! BT e Y geeTs it § 99 Hand B
< 2. 37A 7 I P S BT S2ART BT
o 3. N I<T ITIrITd % AT BT UTe R @ T aTfev|
X 4. 98 AfRt d5T TR A BR Imal gl

Question ID :

Option 1 ID

Status

Comprehension:

{71 e 3 SR W B Y Hedt &b IR A9

ST ST & b I8 GIRT BT 3UBR o T6T & I€ 3@ &, ST THerdl & o5 G 3TPT UBR o E & a8
i IEEH 21 P 5T 3UPBR IR €, B fbepT 3T = TaT 82 AFS it I &, bae oif ¥al 3,
o geBT § e, Sfier faurar B AT % SR | e B 3 g fie 9, 9gd 38t ard &, T8
ToreT BT, IS 9T TeY, TG I A TE 811 1M1 G uga o A Af e 2, o g ggan
T M aF (i Ted 281 g 3R T a1 79 & fdped €1 gt ag ¢ ST AT aer v 8, gat g @
fSraepT 7T WRaer §1 WRaer € BT 37¢f & GRATHS BAT, el FORAT, ST, & o1 fordepr 7 37
gor & & € 98 g & 7T &I Baladd BT 8, A B B & A firear s vadr €, gai &1

G P A SiTeT fABTar 21 Best 57 99 HeameRY & gax €1 dg 9eft 81 a8 Ruft &1 a7 o 6 '
TR ¥ g, FYOT M Bl HimTeR WY 3T o €1 STe B € WifT g Bvon g &: “H w@nef & A
3O H P AT GER P FA H GATAT A& FOhelT, gHAQ H 7T BY it TepT § 3§ ger F o) T § 1 PeoT
3T W IR TR AT &, F Y 3707 R AR Tel 81 aTl 7 i, gr e e

SubQuestion No : 66

Q.66 SNyHeM i fr R gEA FI PR W@, TE______ 2

Ans

& 1. 3ramEY
o 2. T
2 3. Rt

X 4.9fg@

Question ID :
Option 11D :

Option 2 ID
Option 4 ID

Chosen Option :

264330173199
264330679288
264330679289
264330679287
264330679290
Answered

3

26433062869

1264330246151
Option 2 ID :
Option 31D :
Option 4 ID :

264330246149
264330246150
264330246148

: Answered
Chosen Option :

3

26433062271
264330243775

1264330243773
Option 31D :

264330243774

1264330243772
Status :

Answered
2



Q.67

Ans

Q.68

Ans

Comprehension:

{71 TTerfer 3 TR W B Y Hedt & IR A9

ST e & b I8 GIRT T 3UBR o T6T & I€ 1@ 2, SiT AHerdT & o5 G 3T IUBR o E & a8
i IEE 81 P T 3UBR TR €, B fbwebT 3THR < YaT &2 HIS Sif I8 &, baet oif ¥el &,
3o geBT A e, SfaE fawrar Bt Ao & IgaR| R @Y 39 g fiiet T, agd 37 91a 8, 8
ToreT BT, IE aTd TeY, TG I A TE 811 AT o Tga o A Af e 2, o g ggan
T MM a1 (i Teid 281 3@ 3R g@ a1 77 & fdsped €1 geit g ¢ ST AT aer i g, gat ag @
fSrepT 7 WRaer §1 WRaer € 1 37¢f & GRATHS BAT, el FORAT, ST, & ot | fordepr 7 37
gor & 78 € 98 g & W BT Baladd T &, A Bl B &b A firea 3R vadr €, gai &r
M & Y S fIBTdT €1 Poot 37 T earaRt & god &1 ag 9eft &1 ag Rt €1 37 5 S e
TR ¥ g, FOT HIT Y WimTeR WY 3T o €1 ST B € Wi g Bvon g &: i w@nef & A
3O A Y AT IR b HA N G TG FORelT, GG H A By Sty e § 3 ger F o) T § 1 st
3 W TR FIRY AT &, F Y 3707 R AR Tel 81 aTl 7 i, g g e

SubQuestion No : 67

AT fHHdb AT & 3TIR St @1 872
X 1. FETST &Y
«F 2. sfagr foumar &
X 3. A Bt
X 4. 39
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID
Status :
Chosen Option :

Comprehension:
9 TTErfer & STUR W YS Y HRAT & IR AfSiT

ST e 2 b I8 GERY T 3UBR 9 TeT & g€ 31a 2, S JHerdT & o5 G 3T IUBR 9 I § a8
Wt GEE 21 P foIeT IUBR BT &, P ferchT AUBR X 78T 87 AT Sif I8T &, Bad ot el &,
31t gt J T, SfAE futar i Ao b 3gaR| o B 3 g e ST, 9gd 3t ar 8, T
ToreT FepT, IE QT TEY, TG I A TE 811 1T Y& UgaT o1 A AfE TTerd 2, o g Tga
T AT A (i Tetd 21 g@ 3R @ a1 77 & fdobed &) ge a8 2 foma AT aer W 8, gat ag @
fSrIepT 7 WRaer 1 WRaer B T 37¢f & QRATHE BT, Siet FORAT, ST, & oRl| foriepr 7t 37
T2 ® T&l & 98 g P H BT BeTdd BIdT 8, 0 P fEum & {7 fiear smeeR e 8, gadl &
HAW & oI STe fBTaT &1 Pest 57 9a HearaRt & gor €1 78 92ft &1 98 Rrft &1 11 SHE B —E
TR ¥ g, FYOT MY B Wit ) 39 o €1 ST i € wifed g Siwom o &: i wnef & g
U T Y TAT G B A B Gl A€ O, gafag ¥ 7 B oftd Tt § 3 720 ¥ o T 1< oot
3 T IR FIRY AT &, 7 Bl 370 TR AR T&l 81 aT| 7t i, g g e

SubQuestion No : 68
goit a8 &-
X 1. S 3ERY E
X 2. fo g 77 fadt iR Faer v &
o 3. ORI 77 3o g2r ¥ 2
% 4. SN IUBR B

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

26433062272

264330243778
264330243779
264330243777

1264330243776

Answered
2

26433062273
264330243781
264330243783
264330243782
264330243780
Answered

3



Q.69

Ans

Q.70

Ans

Comprehension:

{71 TTerfer 3 TR W B Y Hedt b IR AT

ST eIt & o a8 gAY BT IUBR IR IgT § g 76T 2, S THETT & 35 gaR 35T HUBR IR IE € a7
t GEE 21 P foIehT IUPBR BT &, PIF foerehT ITUBR B TgT 82 AT S1T 78T &, haet St ¥eT &,
31t gt J T, SfAE fuTar B A & 3aR| e B 3R g e ST, g 3t ar 8, T
fofeT bt IE aTd TeY, TG 3 A TE 811 AT G uga o A Af e 2, o g ggan
T MM a1 (i Teid 81 3@ 3R g@ a1 77 & fasped &) geit g ¢ ST AT aer i g, gat ag @
fSrepT 7 WRaer §1 WRaer € 1 37¢f & GRATHE BAT, el F0RAT, ST, & ol | fordepr 7T 37
gor ¥ & € 98 g & W BT Baladd T 8, A BT B & A firea smeer vadr €, gai &r
M & Y S fBTdT €1 Poot 37 T egraRt & g &1 ag 9eft &1 ag Rt €1 717 5 H e
TR ¥ g, FOT M Y WimTeR Y 3T o €1 STe B € WifT ag Bivon g &: i w@nef & A
3O H Y AT IR I HA N G TG FORelT, GG H A By Sty e § 3 ger F o) T § 1 st
3T W TR FIRY AT &, 7 Y 3707 IR AR el 81 aTl 7 i, g g e

SubQuestion No : 69

39 g 1 WA A fdid et §1- arer ¥ Yaifda e 1 Afim 37
o 1. aafa
X 2. fAawfa
X 3. bqa
X 4. 3w
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID
Status :
Chosen Option :

Comprehension:
7 TTErier & TUR W YS Y WAl &b IR AfSIT

ST e 2 b 98 GERY T IUBR 9 TeT & g€ a2, S JHerd & b GIR 3T UBR 9 E § a8
Wt FEEN 21 P foHIehT 3UBR BT &, P foheichT AUBR X 78T 87 AT Sif 38T &, hal ot el &,
3O 58T 9§ e, SR farmar Bt Ao & sgER | R 3 3 g fiet S, agd 37 ara 8, T8
ToreT BT, PIE QT TEY, TG I A TE 811 1T Y& Uga o1 A AfE TTerd 2, o g Tga
T A A Fdid Tetd 21 §@ 3R @ a1 77 & fdobed €1 gt a8 2 foma AT aer W' g, gt ag @
fSrepT 7T WRaer §1 WRaer B T 37ef & GRATHE BT, et FORAT, ST, 8T ol | foraepr 7t 37
T2 H T&l & 98 g P H BT Berdd BIdl 8, 30 P fEu & {70 fiear smeeR vaar 8, gadf &
HAW & oI SiTe feTaT &1 Peot 57 Aa HearaRt A gor €1 a8 92ft &1 a8 Rrft &1 11 o B —E
TR ¥ g, FYOT M BT Wit ) 399 o €1 ST B € wifel g Siwom o &: i wref & fag
IO H P AT GER P T N G TET FOBRelT, GHIAT H 7 BY STt Fep § 3 g2l H R T § 1 Feol
3T F TR FIRY AT &, 7 Bl 370 TR AR Tel 81 aT| At i, go e &

SubQuestion No : 70

TRa2l B T 37ef Y 3=

X 1. TgHIRar

25 2. JRMHE BAT

o 3. RO BT

K 4. 31q fda
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

26433062274

264330243785
264330243786
264330243787

1264330243784

Answered
1

26433062275
264330243789
264330243788
264330243790
264330243791
Answered

3



Q.71

Ans

Comprehension:

{3 TTerfer 3 TR W B Y Hedt b IR AT

5T WP fordd} g0 Ra &1 (1) o foTq 39T A1a BT ASTgd BT MM &, 3 TR foet
T 31N or BT AfeTee 3R T a7 3 Ty aer Bl (2) IR BT S BT ST 21
3R g it Ta &Y TpdT § ST rerfies fRiar W G v & sy, wiifd SRy wrerfdes feiem w &
39 frer ik €1 i 313 o wrerfires feierm o1 ammer & 4 sTuR T 21 [IeR i foere g

F(3) BT BRANM P §Y fARafdenerar 3gar 3T & sreger oft Adafde BloR) A 3l
&) e fob AT foram o (4) TP PIE Wi et Il &Y X FapelT| fAe & (5)

& FERIAT P Hebcll & 3R Ger W HIE AT Febdll 81 31T b gt H g & folaf & &R &1 I
Tyfe % AT Tfts Ty 8 T

SubQuestion No : 71

UG $ U aTet 2 A R 21 (1) B gfF Fifsigl
1. merfsy
X 2. fowfa
2 3. ufarr
o 4. qaga’
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Comprehension:
T3 TTErier 3 STHR W YB TY 5AT & IR S|
oRT Wb fopett HIRA Y (1) P AT 3ebY Fia T HoTgd BT 31TA28w 7, 3T YR it

g 31K 22r Y Afeierelt 3R Fu= a1 & faig @l @l (2) el BT S BT SRo) 1
3R g @it T B epdT § ST wrerfies fRiar w4 e & sy, awifes s wrerfies foiem w &
Fog felgm fR €1 I 3= o wrerfies feler o1 avrerd € et 3maR 8T 31 fIER wrafies felers da

F (3) BT BIRT B §Y fAeafenera 3gar A & 3naer ot Aadids dlort 7 3ie
B e 1 T forem & (4) P PrE Wt Qer Wil &Y o) TaweT| frem & (5)

&I T B Heball & 3R 2N H AE 71 Febdll 21 37T bl g # el € forafl & TR T I
THfg & T1 TS Tey g T R

SubQuestion No : 72

Q.72 faepeat ¥ ¥ Jug 2 TA e w20 (2) F gfd FifSw

Ans

" 1. foram
X 2. ®H
K 3.5
X 4.uq
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

26433062713
264330245534
264330245535
264330245533
264330245532
Answered

4

26433062714
264330245537
264330245538
264330245539
264330245536
Answered

1



Q.73

Ans

Q.74

Ans

Comprehension:

{71 TR 3 SR W B Y Hedt & IR A9

oI TP forddt gHRa &1 (1) o foTq 39T A1a BT ASTgd BT 3T &, 3 TR foet
g AR Zer B Afaremert 3R G S % faw g8 6 (2) LT BT S BT SRt B
3R g Y T 81 TebdT § ST Treiffes i w Aoy v fan sy, wifes oy wrerfies foram R gt
I forg FniR €1 It 3= o wrerfies folem o1 anmer € 4t 3R BT 21 IR wrafies e Tw

F(3) BT BN TR §Y Ieafdencrar 3 3ma 3 rger ot Aeafde Blor) 4 S
& g fob AT foram o (4) oY IS Wt Zer wIfer & e FawelT| fRAeM & (5)

& FERIAT P Hebell & 3R G20 W HHIE AT Febdll 81 37T b g H qarge & ol & &R $1 IS
Tufg o AT e Ty B T

SubQuestion No : 73

TP 2Aeg BT 31 Yehe P aTel IUGRT 2 A e T (3) Y gfd HifSigl
X 1. PlaTret
o 2. fader
X 3. 99
X 4. PR
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Comprehension:
T TTErier 3 SMTHR W YB TY 9AT & IR Y|
oRT Wb foett gARA Y (1) P AT 3BT A1a BT HoTgd I 31TATD 7, 3T UBR bt

g 37 &e2r bl AferieITet 3R Fu=t s &b Ay agl Y (2) LT BT ST BT oodl &1
3R g @it T &Y T § ofd wrerfies fRiar w4 v & sy, awifes sk wrerfde foiem w &
3o frer R €1 I 3113 o wrerferes feier o1 anTerd & ger 3muR 2t 21 [eR wrerfies s g

F (3) BT BIRT B §Y fAeafdencra 3gar A & 3naer ot Aadids dlort 7 3ie
B e 1 o forem & (4) P PrE it Qer Wl &Y o TaweT| forem & (5)

&Y TERIAT I Hebell & 3R Sor H AIG AT TRl 21 31T Bt g A A & ol % TR B I
THfg & Tq1Y TS Tee g T &

SubQuestion No : 74

3rgAfer & Iuger fae 2reg A fam T (4) B gfd HfSwl
X 1. wmfd
o 2.37f
X 3.
X 4. Terfar
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

26433062715
264330245540
264330245542
264330245543
264330245541
Answered

2

26433062716
264330245546
264330245547
264330245544
264330245545
Answered

2



Q.75

Ans

Q.76

Ans

Comprehension:

{751 TTerfer 3 STHR W B Y Hedt & IR AT

ST WP fordd} gHRa &1 (1) % foTq 39T A1a BT ASTgd BT MM &, 3 TR fooet
g, 1R er Y erfaremett 3R Gu= o % faw gaf 6 (2) LT BT SR BT SRt B
3R g Y T 81 WebdT § ST Trerffes i w Aoy v fan sy, aifds oy wrerfies foiam R gt
3og forer ffk €1 i 31 o wrerfires feiem o1 anmer & 4 sTuR ar 21 [9eR weifie e g

F(3) BT BRI TR §Y fIeafdencrar 39 3ma 3 rger ot Aeiafde Blor) 4 S
B g fob AT foram o (4) oY IS Wt Zer wIfer & X FawelT| fRAe & (5)

& FERIAT P Hebcll & 3R G20 W HYIE AT Fepdll 81 31T b g H eI & folaf & &R &1 I
g & A1y afiss Ay 8 T 8l

SubQuestion No : 75

A el ¥ A 3uge 2reg gAaR Raw T (5) 1 gfd Hifergl
X 1. BImATR
o 2. THISTATS
X 3. ynfdars
2 4. T¥gae
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :
Comprehension:
T3 TTErier 3 STHR W YB Y 9AT & IR S|
I BT TAaR Bl HR (1) 21 3R $9 YR H I&UTdT € a9 98 deidR Hol & @Ie Pl &,
3T T H 3119 (2) Ag 21 21 39 fawdid, afe < adar & uR /A Y, (3)
B, d9 I8 JoTaR T Bl &l a4 T 8, THR St TH i el & Tabel 81 S UK, I
fopett o7 et € T 81 T &, A 98 wgs e A ae §, aif (4) fer a fapdt 3k
AT BT GRT T PBx bl 8, TR Ve TN AT 37T A1 36T dTc! bl HY 370 8 IR TR AT
37efd g4 (5) & WITe Mg H gl Tdhal Bl
SubQuestion No : 76
A ferepelY A A IugeR 2reg TSR e T (1) 1 gfd Fifergl
X 1. afTET
X 2. Tl
o 3.7
X 4. IRFTH
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

26433062717
264330245549
264330245548
264330245550
264330245551
Answered

3

26433062719
264330245552
264330245554
264330245553
264330245555
Answered

3



Q.77

Ans

Q.78

Ans

Comprehension:

{31 TTerfer 3 SR W B Y Hedt & IR AT

TSI BT TeTaR Y UR (1) 21 3R T YR N dlevTdT € 99 98 dadR Vel €1 @re $I &,
37 BT H A (2) g gt 21 39 o, afe 39 doar $Y ¥R 7S Y, (3)

B), I 9 dTaR T B € 9T T 2, TAR It BT Bl T8 8 Aepedt 21 = WhR, IS
Toft T TR &1 e 81 T &, A1 a8 AgS 1 I Hi aewR €, b (4) far dt fset 3R
HIST BT QT TE P bl 8, T Ueb TR HIS 3 H1EY I& AT P HY 370 & IR TR AT
3T TG (5) & HITe T § Sobel TebdT Bl

SubQuestion No : 77
‘3R P ATAT B 372f Fehe HIA a1 20eg A Reret 2201 (2) 1 gfed HfSe

X 1. BRATET
X 2. BRE
< 3. PRATS

o 4. PR

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Comprehension:

T3 TTerfer & SR WR g8 Y HRAT & IR fog|

FIST BT AeaR Y UR (1) 21 3R T YR N dlgurdT € 99 g8 dadR Wel € @le $I &,
IO BT W 3fEE (2) &g a1t 21 59 faudia, afe s aear i ur AN 2, (3)

B, a9 I8 TaR HA BT & T 7 8, TAR B &1A Bl 7€ 81 Fabdl 81 S IR, IS
foret o1 Tt € e B T &, oY a8 A e A ot I 7, wiifds (4) afer ot fopet 3R
I BT G 6] BY bl 8, TR TP INTU AT 3797 H12 g7 aTcl &l HY 379 & IR TR TG
AT Td (5) & T Mg § &bl ThaT &l

SubQuestion No : 78
WEP 2 F IuFa U F R w2/ (3) B gfd HfSg)

X 107
o 2.9
X 3.4
X 4.9zt

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

26433062720
264330245557
264330245558
264330245556
264330245559
Answered

4

26433062721
264330245561
264330245562
264330245560
264330245563
Answered

2



Q.79

Ans

Q.80

Ans

Comprehension:

{71 TTerfer 3 SR W B Y Hedt &b IR A9

I BT qeaR Bl YR (1) 21 3R T YR N dlevTdT € 99 98 d@dR Vel € @le $I &l
37 BT A A (2) A& 21T 21 39 fawdd, afe €9 daar BT uR A1 &, (3)

81, 79 I8 dofaR W P € ) 7 8, gAR i B B 78T @ Tohdt 81 5= wehR, Ak
P afT e e, A ag T I W IR, R®ifF (4) _ afaw arfasat sk
HI BT G TE I FPBT 8, T TP TRTU AT 379 T2 T6 aTelt b1 Y 370 & I TR ATy
37efd T (5) & HITe T W gl ThaT Bl

SubQuestion No : 79

fSiar 2reg ¥ watogea faew 2 ¥ Raw w2 (4) B gfd Fifsrgl
< 1. drer
X2
< 3. WU
o 4.3
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Comprehension:

T Terfer & SMTUR W g8 Y HeAT & IR AfS|

HIST B AeaR PV UR (1) 21 3R T YR N dlevrd € 99 98 dadR Vel € @le $I &,
J9 B A HfHS (2) g gt &1 39 o, afe g9 aoar BT yR A Y, (3)
B), 79 9€ dcTaR WA B €1 T 7 8, BAR It B Bl A€ & wepedt 21 1 Wb, I
Topeft T TR €1 T 81 T &, A1 98 A 1S I HY ek €, i (4) Afer Y it 3R
HIS BT GRT & Y Tl 2, TR Ve TRATE A 37 T2 I& dTcl ol HY 370 € I TR AT
fqAfd vd (5) & HITe T § ool YahaT 2
SubQuestion No : 80
3f3a yfewir ereg & e T (5) B gfd Fifegl
o 1. Tl
X 2. gcafss
X 3.939 G|
< 4. Fegan
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :
Chosen Option :

26433062722
264330245564
264330245566
264330245567
264330245565
Answered

4

26433062723
264330245570
264330245569
264330245568
264330245571
Answered

1



Q.81

Ans

Comprehension:

FefSTEa Terfer &) Tga 30 ATUR TR 4B Y 7oAT & IR AfS-

R R sfdera o1 o vt & afer a1 & — sfapra, Wiaierd, $fdewr, 3y Hrer| vl
P {2t AIfeer &1 Fofeblet el STl 31 HidRidbTelld THE Bical § Y, BaR, qerl, S, #Rk7 3fS
T AT foraT STt 21 §7H 9§ fd YR STt Bl i T8l STHT? HiRieTd o HEUTITRG B GIarTst 7
TR, FIEART, TTecd Tat 3T BT 3R TTHT 3t Afeer & fam €1 3% val # areded,
TR T 2 I P HTT UTed 813 €1 3 a1 79 & TOdT Peetrd &1 376 T ey ma @ fob ® @

T T 35T BRAASH'| I 3BT P HIIS Bid &1 37 BIA DI [IATAT IHbT 1T 81 37D
37fereeR TTATG SOTHTIT & IR STt €, Fal-hel TR Tpd T WRAT HTST & 2reg WY Uy ST €1 3
T3 H 3TIHTH, TP, 2T, AT, ISIET 37T T ST@BR IR ST &1 I STATY & wfesd 39 val §
ST Ul 97T ST €, T8 Foild &1 QAT @ITaT &1 T8l @ fob o STHie &1 3761 7eg 1580 €. H g8 off| 8
w1feey STTa ® 3 |a 3R 3|

SubQuestion No : 81

TR Y TEATH & UgEd: B9 T TE I Sar?
< 1. 9TR
< 2. efid
X 3. 9T e
o 4. i
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

Comprehension:

FAAfefEd Terier BT dga 38k 3R W I8 TV HeAl & IR diforu-

R e fdera o1 o vt & afer e & — sfiera, Wiaiere, Sfder, smyfies Hie | Hiaemer
I 3! ATfecd BT WufeTe el ST €1 MfdieTe T Hiaal § JF, SeR, qordT, ST, 717 37
T AT Tt STaT 81 ST ¥ Pid YRR STt Bl P Tel STHT? MIRidTd P HEUIIRP Bid GRarToi 1
AR, JIARTGA!, TTfE el 31 BT 3R oI 24t A1fecd &1 fam €1 379 uel § arede,
SR T LT I P HTT UTed 819 €1 3 aTedodr T & fOdT Heetid &1 376 T wer ma & fob ) [
T THT 3BT BRAGETH'| J 37LBTY P HIITS Bid &1 37b B bl fIATAT IHBT 17T 81 376
3TEpaR YIS SSTHTST # ORI STelT 8, Pel-hel O Sedpd d WhIRET HTST & Qg HY T ST &1 3¢hT
T3 W 3TIATH, TP, 2, ITHT, IHEM 3T T+ ITABR I ST &1 T STHTY & febd 39 wal o
ST 9UfT a7 STTAT 2, 98 Woltd | VAT al & Tel & b & STy &1 376! 5eg 1580 8. H g8 off1 Bl
H1feer STTa & 3 98 3R e

SubQuestion No : 82

Q.82 fimfafEa ¥ ¥ Sia-ar F wifger &1 v v 38 22

Ans

< 1. anfemre

X 2. 3y Pl

F 3. QdobTet

X 4. dfderer
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

264330164747
264330646127
264330646130
264330646129
264330646128
Answered

4

264330164743
264330646113
264330646114
264330646112
264330646111
Answered

3



Q.83

Ans

Q.84

Ans

Comprehension:

TR Terfer &Y ge 30 AR TR 4B Y 7oAT & IR -

R e fdera &1 oR vt % afer T & — sfeapra, Wiaierd, $fdewr, 3y Hrer| vl
P {2t ATfEe BT FOTBI BET ST 51 HicRTBIelT TS Hiadl § 9y, BN, o, ST, #RT 3711S
T AT foraT STTaT 21§77 9 Hfd YR STt Bl P T&l STHT? HiRieTd P BRI B GErTst 7
TR, FIARTA, TMEcd Tat 3T BT 3FHIeT ToTHT 3t Afeer &Y fam €1 3% val # areded,
TR T 2 I P HTT UTed 813 €1 3 a1 79 & TOdT Peetrd &1 376 T ey ma @ fob R» @
T T 35T BRAAEH'| J 3BT P HIIS B &1 37 BIA Bl [IATAT IHbT 1AdT 81 7D
TR TG ST H URA ST 8, Pel-dal IR HIPd g BRET HIST 5 26 HY IR STd 21 37T
T3 H 3TIATH, TP, 2T, AT, ISIET 37T T IT@BR I ST &1 I STATY & fesd 39 ual §
ST Ul ITAT ST €, T8 Foild &1 QAT @IiTaT &1 8l @ fb o STHie &1 3761 g 1580 €. H g8 off| 8
ATfee ST ® I 9T 3R @

SubQuestion No : 83

fmfefEa ¥ A Sl T e B TE1 82
X 1. GEREet
X 2. aifga o
& 3. 3B
K 4. gETR
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

Comprehension:

FAFTfET Terfer T g 38k 3R W I8 TV oAl & IR difolu-

R i sfdera o1 o vt & afer T & — sfeara, Wiaierd, Sfder, smyfie ®rel Hiwwmer
I 3! ATfec P1 WufeTe el ST €1 MidieTed T Hiaal § JF, Se, qord, ST, 717 37
T AT Tt STaT 81 ST ¥ Pid YRR STt Bl P Tel STHdT? MIRiPTd P HEUITIRD Bid GRarToi 1
IR, GRARTIC!, AT e 3 BT 38T WorT B ey o1 fam &1 37 wal o aree™,
SR T LT I8 P HTT UTed 813 €1 3 aTededr T & TOdT Heetid &1 376 3T wer ma & fob @ [
T THT ST BRAGEH'| J 37LBTY P HITS Bid & | 37b B bl fIATAT IHBT 17T 81 I7HT
feIeeR TATG SSTHTNT X IR STl €, Pal-he] U¥ TRgpd R HTST & Qreg WY Uy ST €1 37
T3 W 3TIA, TP, 2, ITHT, IHET 37T T+ ITABR I ST &1 T ST & fepd 39 val o
ST 9UTT TT STTAT 2, 98 Weltd | VAT al & Tel & b & iy &1 376! 7eg 1580 8. H g8 o1 Bl
w1feer STTa & 3 98 3R e

SubQuestion No : 84

G & S BN TR 991 I T8 grar?
X 1. T I I T & foar Paerra 2
X 2. TIfd T VfRIBIA & 3P Bid &l
o 3. T 37D TN | 3 Foflaar 2
X 4. P 3% ATfec B gfe b

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330164744
264330646117
264330646118
264330646115
264330646116
Answered

3

264330164746
264330646125
264330646124
264330646126
264330646123
Answered

3



Q.85

Ans

Q.86

Ans

Comprehension:

TSI Terfer ) Tga 30 AR TR g8 Y 74T & IR -

R i sfdera o1 oR vt % afer a1 & — sfapra, Wiaidre, $fdwre, smyfie $rer| HiRwTer
1 {2t AIfeer BT Fofeblet el STl 31 HidRidbTelld THE Bical W Gy, BaR, e, Sa, #Rk7 3fS
T AT foTaT STTaT 21 ST ¥ fd YR STt Bl i T&l STT? HiRieTd % BN B GRarTst 7
AR, GRARTGT, e dest 371 o7 3R TorT B a1fecd ol fam €1 37 uef & arede,
TR T 2 I P HTT UTed 813 €1 3 a1 79 & TOdT Peetrd &1 376 T ey man @ fob R® 7
AT THT 35T BRAASH' | I 3TBTY P HGIS Bid | 39 BIA Bl [IATAT IFbT 1T 81 37D
37feraeR TTATG SOTHTIT & IR ST €, Fal-hel TR Tpd T BRAT HTST & Qreg WY Uy ST €1 34
T3 H 3TIITH, TP, 2T, AT, ISIET 37T T IT@PR IR ST &1 T STHATY & wfesd 39 ual §
ST Ul 97T ST €, T8 Foild &1 QAT @ITaT &1 T8l @ fb o STHiH &1 37¢b! g 1580 €. H g8 ot 8
w1feer STTa & 3 9 3R &N

SubQuestion No : 85

frafafea ¥ S sresm™ & HfJ §7?
2 1. e
X 2. wER
X 3. BeEaw
o 4. LA™
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

Comprehension:

AT Terfer BT dga 38k 3R W I8 TV HeAl & 3R difoie-

HER U 0TeN §1 0 He W 34T J19fd B faorg o 81ar &, Si 31a¥R &1 Ugadl 81 a8 3R W
fSIa 3cATE I 31T 95T €, Ia7 & 3T I AU & Ty N & AT 81 98 IR gHy g BT fwfar
1T & 31K SfART 39 AT TR A0 F el bl auf H¥ar

TR 39 A § -t O FEuTEr Wt ST €, S 37RR TR eH a8 S #; aifd Hase B e g
TET ST | 3 I0TdR To foorar 1 A BY e Ter 4 &1 3 379t 31 o1 A1 fiver 7, fbg oTeT vop AR
Uge Y € 98T A HaH WS 7 geriin| 3T BIS RRer € GHR-4 ¥ Ao v el 8; fbg wra 3udht
BR fasra & Y 31feres fiRarers gt 21 3R srgvaeite Jamafa T H g sterar &, @ 3 W S oA
aTeY, g 7 A ATl RAUTE} g & Tt PBY I BT €, 3R 3P ged W Hefep 1R B 34 &
2l

SubQuestion No : 86

IR el & fog 3wy eide gl

o 1. 3R AR fasrg

X 2. fosg iR Afa

X 3. foora 3R 318

K 4. 99R
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

264330164745
264330646120
264330646119
264330646122
264330646121
Answered

4

264330173219
264330679361
264330679362
264330679360
264330679359
Answered

2



Q.87

Ans

Q.88

Ans

Comprehension:

FfTTEa Terier o) UgaR 3% ATUR TR Y8 1Y 7oAt & IR AfS-

TR U 0T &1 S He # 36T A9l B faSTg T gIaT €, S 31aeR BT UgaEdT 1 8 3R W
fSIa 30ATE I 31T 96T &, 347 & 39T I AU P Ty U 8 AT 81 I8 IR gH9 I BT [Afar
BT & 3R SfETT 3% A7 R A0 F Bl bl auf Bear 2

TR 39 A # - O FTEr Ht ST €, ST 37 TR SEH 98T ST &, el Hebe H UTe 8T
TEN STHA1 A 0IR qB fara ot Afd & We =rer & €1 3 3ot 7 o1 1w ey &, g STel v AR
UgE Y € qET A haH WD 7 g | 3T PBIS fSReT € HAR-a1 § faory e evelt 8; febg wra: 3w
ER faora & WY 31feies iRt et 1 3PR srgvaeie JATdfa Tl B g srerar &, @ 31 W ST o
aTeY, e 7 Hie arer FHuTe} g & Wit B 3o e 8, 3R 39 ged W A 1Ra B 3ifda # ar
2l

SubQuestion No : 87

i ey fawedl # § “wRIeRr &7 fadi 2 gig-
o 1. faora
< 2. W
X 3. oot
X 4.5
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Comprehension:

fAfafEd merfer ) dga 38k TR W B TV oAl & IR difer-

TR T 0T 21 39 HEH # 3T JAT(d BT IS @1 BT €, ST 376 Bl TgaTdT 81 98 3R
fSIa 30aTe I 3T 9T €, 347 & 3cATE I AT F FH W g ST 81 98 IR gHY I BT FAHfar
BT € 3R T8 39 A7 W I & Foadl B auf Bar gl

R 59 Ha # -l T Furel ft ST €, ST 3R IR @a SeMT ST 8, fdd debe § e ge T
TE ST ¥ I0TIR o froTar 1 A By e et & &1 A 370t I 2B A firer &, g et v AR
Uge Q€ qET A HaH NS 7 g | 3T B e € GHR-a47 § faory v el 8; fbg wra 3uh
R faora I} 3119 TiRarerss et 81 3R sgvaeita Jardfd I r Hia grerar €, dr 31 W S &
aTet, Hg 7 HIS aTell RAuTel 375 & WrdT Bl 3 el €, 3R 3P ged W e 1R B 3ifha R &ar
2l

SubQuestion No : 88
TR & ¥ 5 fasra v gt 272
o 1. S RR YgaHa &
72X 2. S0 AT BT AT fAer <a B
2 3. 50 fasra &1 Aifd HY We Ferad €l
< 4. I IS gAT T8 S|

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

264330173221
264330679368
264330679367
264330679369
264330679370
Answered

1

264330173218
264330679356
264330679358
264330679357
264330679355
Answered

1



Q.89

Ans

Q.90

Ans

Comprehension:

FARffET Terfer T g 38k 3R W I8 TV oAl & TR diford-

HER Ueh 0T8N 31 57 He W 3T J19fd 7 fasrg e 81T &, S 1R 1 Ugadl 8l d8 3R W
fSTa 30T I 31T 9T €, 3 & 3T I AU & FHY W g ST 81 98 IR gHy g BT fAfar
B1T & 31R SfAgT 3% A9 R A0 F Bl bl auf wear 2

W 39 i # il-aefl O FRTel ft ST €, ST 319 IR e GoM1 ST §; e Hebe § e ge T
TEN STHA1 A OIIR g faora ot Afd B We et & €1 3 3ot A7 o7 A1 ey &, g STel v AR
Uge Y € 98T A HaH NS 7 gerii| 3T B fRer € GAR-a4 § Ao v el 8; fbg wra 3udht
ER fasra & WY 31fEes iRaTers Bt 81 3R srgvaeie Jamafa I H Fa Srerar &, @ 3 W S o
areY, §e 7 Hie arer FHuTeY g & Wit B I e 8, 3R 39 ged W A ke B 3ifdd R &ar
2l

SubQuestion No : 89
fmfefEa ¥ A f5a frea o1 37ef - gg 7 Argar
o 1.9818T
X 2. HAT BT
X 3.8

24 T T BT

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

Comprehension:

FAAfefEd Terier BT dga 39k 3R W I8 TV HeAl & 3R difere-

HER U 0TeN B 7 He # 34T J19fd B fasrg e 8T &, S (¥R Pl T8adl 81 a8 3R W
fSIa 3cATE I 31T 9T &, 347 & 3T I AU & FHY WS g AT 81 98 IR gHy g BT fAwfar
BT & 31K SfAET 35 AT TR A0 F el bl auf H¥ar

TR 39 A H Hl-at O AT Wt 51T €, S 3TRR W @aH 981 ST #; el Hase H e g
TEN STHA1 A OIIR Qo faora ot Afd B We et &d €1 & 2ot 7 o7 AW ey &, g STel v aR
Uge Y € 98T A HeH WS 7 geriin| 3T B fRRe € GHR-a1 § Ao v el 8; fbg wra 3adht
BR fasra & Y 31fEes iRaTers gt 21 3R srgvaeite Jrafa T H Fg srerar &, @ 3 WS A
aTeY, g 7 HIS ATl FAUTE} g & Tl PBY I BT €, 3R 3P g W e 1R B 34 &
2l

SubQuestion No : 90

i f&u faepeal ¥ A PF-31 ey 701 51 vafgar T8 82
X 1.9R
o 2. STcell
XK 3G
X 4. Is
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330173222
264330679371
264330679373
264330679372
264330679374
Answered

4

264330173220
264330679365
264330679366
264330679364
264330679363
Answered

2



Q.91

Ans

Q.92

Ans

Comprehension:
TEITRI & TR TR YT &l JR <

TidYer 3T T YUBTE T (1970) Vab 56 IU=T 1 gt 3R GURR B il o1 g a8 I w
fermroT {8t & foett 3= 3u=am § TEY ga1 €1 31ga Y UTHIOTSRAT, AT B S & ufd et
AT, TG BT 375 YgH RT P A1l YA B &7 P &FaT, B bl T 3R AR 3u=a # et
HESIdT P 37eTsT, IT ART A1 Y160 B Vb @< T I TSIRT 31 SHD T @vs H fadia 7ergg o
STHAT 3R geet Bl FT3T I At IR BIST o fasT fasar Tt €1 3uRITeR 7 fRAeR gaid &
AW ¥, ST $9 G BT TRACIG TaTE &, Aiep! BT Wl T wles g o 3ifce aRuTm e 1 agd Foita
Te0T foBam 1T B, Ity Ug @ fob 36 gg-aufa § AT HaeT &7 gl R F 37d deb fem 21
fafeer 3ik Wt Aot & dia & gea aama, TRY B yddr 3R 375 ST TR T Fba & §
ITATABR T BeATcHS T BT 3eTeXvT U2l fohaT §1 39T & GHY WUS N JNTIfaal & TSt &7 o7
21 3R =l ff ST=IIBR 3 € FTHIfCTeReT 3R GeHar I Seimafaat & 3ot St 3aT-ue,
fien 3ik YR &1 fRRoT &ar 2

SubQuestion No : 91
YUBTel T IUIRT BT $E forwa -
" 1.9& AR TRR

X 2. WIARTHRR
< 3. gg 3k enifd
X 4. 9Rar 3R gaTeT

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Comprehension:
TRl & TR TR Yo T IR <l

fARYSr 3T BT YUBTE IT (1970) Th I IUTRT B g 3R AR Y el b7 g o8 I W
formror &t & et 31 3= W 78 g3 €)1 31ga Bt WO, ST Y ittt & Wi el
HAST, aRg31T BT 3T YgH RT b H1el T B & bl HaT, B P HfTHT 3R IR 39 H e
HESIdT BT 37eTsT, IE TRT d1d G160 Bl Vb FR 73Hd I TSTRGT 81 SHB T @vs H fadia 7ergg
STHAT 37K Seat B AT & ded! MR BieT el fo=oT fasaT 1T 21 3U=ITeR 1 oFdR goid &
AR J, 511 39 gg BT ILHCIG TATE &, AFTep! bl Rt F oo g o 3ifcw aRomm qe &1 aga weia
TeToT {3 TTIT B, Sty UE § 1o 59 gg-avia W A WaedT &1 vef R ¥ 37d e [ ¢
fafeer 3sik Wt At & e & e aama, TR B yddr 3R 375 SITdia Tr1 o1 Fha 3 §
SUITHPBR 7 BT HIH BT 3aTex0T IR0 AT €1 3U=IT b IR @S W JeMafadl P ST BT 0T
21 3R 7l ff ST=IIBR 3T € ST 3R GeHaT & Seimafaay & 3ot <fat, 3aT-ue,
fieren 3R Y™ BT fRIF0T Bar 21

SubQuestion No : 92

YUBTE AT IURIRT Y FQrerar 7Y 8-
X 1. araTaRoT & U et T
#< 2. g3l BT 37 YgH <RI &b A1l IR e
o 3. BTN T IRTBTSAT

7< 4. TESTAT BT 3Tt

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :

Status

264330174132
264330682973
264330682974
264330682971
264330682972
Answered

1

264330174133
264330682976
264330682977
264330682975
264330682978

: Answered
Chosen Option :

3



Q.93

Ans

Q.94

Ans

Comprehension:

TTETTLM & 3R WX U7 Bl IR <l

TRl 3T T YUBIE IT (1970) Veb 56 3T &1 Gk 3R SRR BT Tttt T S a8 Y R
feror {2t & foseft 37 39 2T g31T €1 317a Y UTHIOTeRT, SR &1 <fisii & Wfd Tedt
HAGT, TG BT 37 Y& RT & HTY TG X < DY §HaT, He B T 3R IR 39= # &
HESTAT 1 3HaTsT, U8 AR N IS Bl Top & 314 A TSIRG 8| 3P oM Tus # fgdia wergg #
STHAT 3R Seat Bl FAT3T & dSdt MR BieT BT =T fasaT T 21 3U=IaR 4 RFeR gaid &
AT &, i1 $9 G BT TRACIG TaT8 &, AfTeb! BT Wil F oo g & 3ifcdd aRormm des 1 agd Foita
Te=ToT {3 TTIT B, 3oty UE § o 3 gg-avia § AT WaedT &1 af R F 37d e fgm g1
fafeer 3R IRt JfAept & diar &b Geu ara, TRT Bl YT 3R 376 ST &R BT Hebd o # Mt
YT 7 AT TAH T 3eTeX0T U2 fbaT €1 3u=0m & IR @vs ¥ Janmafadl & JwTeT &1 fosror
21 3R 7l ST=IIBR 3T € AT 3R ggHar & sedfaat & it efat, Sar-ued
faepen 31k yerR &1 femoT a2

SubQuestion No : 93

& BT Il 2reg
o 1.1
X 2. fawe
< 3.9
X 4T
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

Comprehension:

TTETTel < 3R WX U7 Bl TR &l

TAYer LT T YUBTE AT (1970) Teb IS IU=IT &1 G 3R AR b et bt ey a8 ATy R
feror 8 & ot 31y 3u=am H &Y g3 &1 319Ha Y WTHIfOTeRaT, ST Y i F ufd med
AT, TEGHT BT 376 YgH RT P ATl YA & &7 1 &fFdl, B bl HTTHT 3R AR 3u=a 7 et
HgoTd] Bl JHeTst, Tg AN d1d UTSeh bl b Jia 3FHa A [eIRdT 81 39 Term @us | fgdta werge ¥
STHAY 3R geat B JAT3 A TSt MR BiST el fa=oT fasar mam 21 3uReR ¥ REER gaid &
HTH ¥, ST $9 G BT TRACIG TATE &, ! BT HIdT I W g & 3ifdH RO e &1 9gd Hora
ferroT febarm T 2, e UE & fob 59 gg-aui # Add HaAGT P uaf % I 3 deb e B
fafeer 3ik W AT F 19 & Yea a1, TRT BT YT 3R 375 ST TR BT Hbd o
SYITHBR ~ AT HIH BT 3&Te0T U2I fbdT 21 3U=ITH &b gER WU H J&afadl P FHIST BT fmor
21 31K TgT M ST 31 € TTTfOidT 3R FeHT & Seimafdat % st <fat, 3er-ued
fdeeH 3R YR &1 fasror &ear 81

SubQuestion No : 94

THEYE BT 312f 2N mI-

X 1. TRAT AT a1er

o 2. Tt

X 3.8

& 4. 3131451
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

264330174130
264330682963
264330682964
264330682966
264330682965
Answered

2

264330174131
264330682969
264330682970
264330682967
264330682968
Answered

2



Comprehension:
TENTRI & TR TR U &l JR <

fAYer 3T BT YUBIE IT (1970) Vb %S I 1 gk 3R G B foferht o g a8 YA W
ferroT {8t & fopett 37 3u=am W 2T g31T €1 31gHa Y UTHITOTeRT, U &1 sl & fd Tedt
HAGT, aRG3T BT ITP Y& RT &b T1e TG I < DY §HAT, e B Wi 31k IR 3= H e
HgSTdT BT 3HeTsT, I8 AR d1d U16e Bl Yo e 3T I [SIRA! 8| 395 oM Tus | fgdia 7erge ¥
STHAT 3R geet Bl FT3T I Asdt IRATT BIST S AT fasar man €1 3uITeR 7 fRFeR gaid &
AT ¥, ST §9 G BT TRACIG AT &, Hiep! BT W T wIex g o 3T o e 1 agd Foita
TemoT fia 1T B, Ity us @ fob 36 gg-auiT § AT HaeT & el R F 3id deb fem &1
fafeer 3ik MR AT & &9 & e ama, TRT BT YT 3R 375 ST TR BT Hebd & H
SURATHHR A BeATcHes HAH BT 30T U2l fobaT 81 3u=0TH & GIR WUs o Janafad] & HTeT Bl foor
1 3iR TgT I 3U=IRIR 3t € TTfOTeaT 3R geHdT & Seindfaal % st afat, Ia1-ue,
fapeH 31k Wer™IR T =0T eear 21

SubQuestion No : 95

Q.95 fiifter 32T & IU=ATH YU ¥ & deof ¥ 3rred &-

Ans

1. Tt @us o 3eafaal & o gt iR R 3fE o quiT 2

o 2. 390 T @uei | fTfora 8, S g, SEafd TSt 3 a1 fomror 81
#< 3. B! TG Gebid ATHeb Ueb feAbR &1

X 4. 9" Tug ¥ yefid gg goiT ¥ HIdiT FASAT 6T uel vad gl

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330174134
264330682982
264330682980
264330682979
264330682981
Answered

4



Comprehension:

FfefEd merer BT ey 39 MR W Y8 Y 7T & IR Qfoig-

TS T G Wifdepardt g €1 d=Te Jrfd A Siiee &1 ¥¥et g &l oM & foiy U 3 gga 1
AR X ST &1 FAH B b oI 31T HefA 3uetes 81 faet 3 3 Al &l S@a &% &l bl
TR ST ST BRAT TTEClT &1 ST PROT 38 1T H W bl Hgearebial ¥ A Ifg g8 2l b
AferT Y& AT R P faiy srfeepTioes ATeA vesfd ot aTeal @1 adAE 9w | faeg & 3/ Qoff #
GE-GfAUT & HAfeeBier ATe FESTar A Iueied] & Wg g7 A2l b vt FHarel #f il 7€l €1 3BT BRoT
Tl BT 3MTT B e @for & IR Al GE-gfauT 1 3nra it &, e Y 9 gt 8T 81 T T
B S & et & a1g TE T i, ngar duRare| et Hg 7 a1fey, A € 2rEemg|

Al &b ged B G Bl WTaHT STd 8l & 3T T FidTd e St €1 = & ufg aneffies
AT T HR[IT T ATl & PROT ¥ P fRd T Fa o Geat et 3rgva < | faed
faovaT g ¥ U WRATT | I el o6 a8 397 & W) AT o1 T 7 21d Wia § e b g et o
TG BT BTG TE &1 Herd ¥ &I B WY THTE 31peR 7 BIE TgHed aeg HITH Bl e, fobg v <
3 e o 3 forelt v Y mTaegesar 781 € o vt TmTe afs o & ared € af 9 ufdsy 7 3% st
fepe AT o1 31T 7 | ATt fert AT & ¥fed 2t 2, ag fesft & wenfte 7 aml 3w fofg
He BT Fafe BT TR BIdT 81 37: Bgl ST Aebdl & fob JelTT 81 A ¥ & AR oI I a8 310
U B1eTT €, T8 ST § HedT G AT R

SubQuestion No : 96

Q.96 3R &y 7Y erier ¥ g waifie 3ugw ot &-

Ans

2 1. 7a AR wefF
X 2. <Tgl 98 981 T8
X 3. fasT 7o are
o 4. A WA uH

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330173224
264330679378
264330679376
264330679375
264330679377
Answered

4



Comprehension:

fAfafEd merfer o) dga 38k TR W B TV oAl & IR difere-

3T 1 G Wifdeardt g &1 d1fes Jrfd 7 Siiee o1 ¥t g it o & fay Ue 3 9eaw v
IIEBR TR BTt &1 TP Bref 3 ot 31me7 mef uetey &1 faam & 57 At oY q@es & arf &t
TR STBT 3TN HRAT TR &1 ST PROT 39 I H WG hl Hecrbial | 3AAd Iig g8 8l b
AfeRT Y& U7 B¥1 b foIU 37EpTfEies ATe Yol el aTedl &1 adw I # faed & e oif #
GE-GfaHT b rfeepier Ao Feotal ¥ 3ueted § W 57 a2ii & vt et ot gt 78t €1 sHeT Sror
AT BT 3T 81 FATs et &b I IS GE-GIIHT BT 3nima W &Y, 79 WY 98 Yot Year 21 T Ha
B 7 Sl & et & T8 ME a1 i, wgar duware | e Fy T @nfew, 9 € ereene

feRT % ged W W BT T STId e & 3Weh T fiaTg e sirdt €1 = & widig aneifies
AT Tl HRGRIH Y HelTore el &b BROT T P foed b1 Faffeies Gt eafad srgia a&d &) faeq
faoraT RAde ¥ U WRANT Ad A FeT 1 a8 39 o W AT o1 a7 o1fd Wia & er & gt et o
TG Y ATaBTEM TE &1 e TV I B Y THTE 1R A BIE TgHed avg HIT B e, fobg v <
7 el fob 3 fobelt awg Y 3Tmaegesar Tel € fo it FaTe Afe o & ared € a 4 ufdsr # 3% 3o
e ot T 31MIE 7 B3| FelTS AfoRT Trera I XEd 2raT 2, 9 foselt & wendid 7€ g 39 fag
Teg T fAafg AT TR 81T 81 37: a1 T Tepal 2 fob Helr & e v ¢ 31 S oy a8 3ngey
YA BT 8, T8 St H T & W BT g

SubQuestion No : 97

Q.97 famfeifEa ¥ A Hardt eafax Sar 78 gar?

Ans

X 1. ife

X 2. arerar ¥ fea

o 3.9 - e 7 fora
X 4. 97 F1 fAafg & arar

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330173228
264330679392
264330679391
264330679393
264330679394
Answered

3



Comprehension:

FHfTTET Terier &) UgaR 30 ATUR TR Y8 Y 7T & IR -

37751 T g Wifderardt g &1 AT W 7 Sitew B IR T i I & 7T U § Je9R T
ITISPR o 3Tt &1 TP B o Ay 3mer 7l suaer €1 faem & o7 AeAt o Qe & af 7
AfRT STBT ITHIT BT <ATeelT 81 S BROT 5 T H G 6 HeeaTbial § 3id gig g8 81 e
AfRT G& U B3 & T 1ferepTfeies ATe Yo 3T amedT &1 g g # faed & 3mes doif #
G- & HAferebier ATe Feoidl § Iueied] & wq g7 il o vt el #f il 7€l €1 gHebr bRoT
AT BT 3MTT | FATS ey &b I IS JE-GIaeT 1 3nma W 8, a9 Wt 9 gt Year 1 9o Ha
B ¥ S & et & a1g TE T A, Agan duRare| et g 7 @1fey, | € 2rEemg|

Sl & ged B FelT &l WTaHT STI]d 81 & 39! TH FRidTd e St €1 < & ufg aneffies
AN T HHGLRT 1 HATgfy F BROT Tt Y fdeq o1 waffiies et eafarr siga o 31 faeg
footaT fdber ¥ U R Td A FeT 3 a8 30 & Mt H1T 1 I 3 2rfd M1a & et o gy et o
TG BT ATBTEM TE &1 e SV & B Y THTC 31PeR 7 BIE TgHed aeg HIT B e, fbg v <
7 el o 3 fopelt avg Y TTaegesal T8l € O M J3Te IfE B & ared € af 9 Wiasy # 3% 3t
e T &1 31T T B3| TSt afer wirerdT & ¥fed 21T &, ag foseht & wendta 7 am) 3+ fag
T BT {HaiE BT TR BT 61 37: PaT oI Al 3 b Hall¥ &1 IRH BT ¢ 3R S I I8 31
o B1TT €, T8t ST § FedT G U R g

SubQuestion No : 98

Q.98 yfaer 2rex &1 faeiy 2-

Ans

15
X 2. 3ymrEY
X 3.Us
X 4. vmE
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

264330173226
264330679386
264330679385
264330679384
264330679383
Answered

1



Comprehension:

FARffET Terfer T g 38k 3R W I8 TV oAl & TR diford-

TS 1 G Wifdesardt g &1 dTfes Jrfd 7 Siied o1 IRt g ot e & faw Ue 3 9gaw v
HTAHR IR STt &1 TP B 3 o 3y 7 3ucred €1 a7 3 &7 At oY 3o & af
SfeR] gAeBT T BT <ATecll &1 ST BRUT §9 I H HIE &I Hecalebial W Ad glg g8 81 Y
AfRT G YT B P [o1Q eI O AT Teblard AT dTedT 81 addT a7 # faed & 3me 2if
FE-FfaHT b Afeepier Qe Feotdl 4 3ueted § W 37 2l & T (Hamd f gt 781 €1 3HeT BRoT
AT BT 3T 1 HATS et &b I I J@-GITHT BT 301 W 21, 7 Wt a8 Gt ear &1 9o Ha
B ¥ S &) et & Trg 7€ T A, Agar dwRarg| ST By 7 A1fey, A € 2rgTemg|

Il b ged W FelI i a1 STIYd Bl &) 3qeh! A FeiaTd e it €1 = & ufig aneffies
TN T HG[ R WY HeATegfer &b HROT Terd P e T Faffees Gt eafat rga a<a 31 faea
faotaT R ¥ U WRANT Ad A FeT b a8 357 & W AT o1 a7 21fd Wia & er S g et o
TG BV ITTRIET TEY &1 Vo HHA T Y MY THTE 31peR 3 IS TgHed a¥g HITH Bl e, fobg v &
T e o 3= forelt avg Y 3maegesar Tal € o v TmTe afE 3o & Tred € af 9 ufasy # 3% 3
e AT BT 31T T 3| HasT feRy AT F fed g 2, 98 et F wenfa TE¥ gt 39 forg
T BT Fafe BT TR BT €1 37: el ST Hepd ¢ fob HelTT & R ¥ ¢ 3R fSraes oy ag 3
U BT 8, T8 St H et o W BT g1

SubQuestion No : 99

Q.99 zreifAe ATsicH T2T B[ & ARAW | *E [ Ot &b Heed B 3ANR HAT aTgdT 872

Ans

o 1. 9a gfd & e @

X 2. iifdesarare & Hew B

2 3. 37 mfd & Hew B
X 4. 3T 7MY & HEE BT

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330173227
264330679388
264330679387
264330679389
264330679390
Answered

1



Comprehension:

FAfTTET Terier ) UgaR 3% AR TR Y8 Y 7oAt F IR -
37TST T G HHfdesardt g 21 dTfAes Wl 7 ST $F IRt 7 ot 91 F {7 U J 9eaw 7

ITIPR & 3Tt €1 TP B 3 g 3mer 7l 3uaer €1 faem & o7 AeAt o) e & arf 7
AfRT STBT ITHIT BT <ATeelT 81 SH BROT 3 T H HIG 6 HeeaTbian § 3id gig g8 81 I
AfRT G& W ¥ & T 1ferepTferes Arue vesfard et amedr &1 ad g 7 faed & 3mes i o
G@-Gfaen & Afeepier Gra Fgotdl 9 3Ucted 8 W 57 a2l & et (e ot gt 78t €1 gHepT Bror
TS BT 3T 1 FAT afers &b I IS JE-GFIHT BT 3nima Wt &Y, 79 Wt a8 gt ear 21 v Ha

B ¥ S &) per & aTg TE T 7Y, Agar quRare| et By 7 A1fey, A € ergemg|
arfer 3 ged N TATT Y WTaHT ST e €t 3qeh! T ffary fie st €1 i & ufdg areifie

AT qAT HIfIad WY Hrsgfe & BRUT W Bl faed T Hatfties Gt afad 31gva Ba 31 faed
faraT Ridser ¥ Ueb MR A A gl fob o 3R o WY AT &1 T 7 207 Wia & e fs et fadt oft
TG Y ATBTEM TE &1 e SV &1 B Y THTE 31PeR T BIE TgHed aeg W B e, fbg v <
7 el o 3= fopelt avg Y 3Tmaegesal Tel & ot F3Te IfE B & ared € af 9 ufasy 7 3% 3t
e g o1 3mrE 7 B AT AT ATera I (e 8T &, T8 fobet I wenfia T &) 39 o
I BT fAdfg BT IRA 8IaT &1 37d: el Sff HabdT @ o5 FaA & WA v & 3R o1 o I 3

YA )T 8, a8 St § et o W T g

SubQuestion No : 100

Q.100 »ifceparet 7 F=fAes Zm & HROUT RT3 ?

Ans

Q1

Ans

o 1.8 - M & 9! # g
X 2.g@, gd g orifd # gfg
X 3. 9d $rgfa ¥ gfg

X 4. 37T & U9 W gfg

Select the most appropriate synonym of the given word.

Imprisonment
< 1. Development

< 2. Redemption
< 3. Predicament

" 4. Confinement

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330173225
264330679381
264330679382
264330679380
264330679379
Answered

1

264330169205
264330663614
264330663611
264330663612
264330663613
Answered

3



Q.2

Ans

Q.3

Ans

Q.4

Ans

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. The priest’s son was meditating when he saw the prince, and was very delighted.
B. The prince asked his friend to become the adviser but he refused.

C. When the priest died, the king decided to appoint the priest’s son the next adviser
to his son, the prince. He knew that priest’s son would be an able guide to the young
prince.

D. So, he sent his son to meet his friend in the forest. He knew about their friendship.

#< 1.BDCA
X 2.DABC
o 3. CDAB
# 4.ABCD

Question ID :
1264330658870
Option 2 ID :
1264330658868
Option 4 ID :
: Answered
Chosen Option :

Option 11D
Option 3 ID

Status

The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options.
The car drove / quite fastly / along the highway / towards the destination.

< 1. towards the destination.
#< 2. along the highway

" 3. quite fastly

25 4.The car drove

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID
Option 4 ID :
Status :
Chosen Option :
Parts of the following sentence have been given as options. Select the option that
contains an error.
She didn't went to the party because she was feeling sick.
" 1. She didn't went
#< 2. because she
#< 3. to the party
X 4. was feeling sick
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330167994

264330658869

264330658867

3

264330164238
264330644186
264330644185

1 264330644184

264330644183
Answered
3

264330168226
264330659779
264330659781
264330659780
264330659782
Answered

1



Q.5

Ans

Q.6

Ans

Q.7

Ans

Some sentences are given below. While the first and the last sentences (1 and 2) are in
the correct order, the sentences in between are jumbled up. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

1.0ne of the peculiarities which distinguish the present age is the multiplication of
books.

A.We are flattered with repeated promises of growing wiser on easier terms.

B.Every day brings new advertisements of literary undertakings.

C.How much happiness or knowledge is advanced by the multitude of authors is not
very easy to decide.

D.He that teaches us anything new that we did not know before is definitely loved as a
benefactor.

2.However, some have the habit to lay two books in front of them and compile the third
book at ease.

«" 1. BACD
2~ 2.DCBA
< 3.BCAD
< 4. DBCA

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

Choose the most appropriate meaning of the underlined phrase.
Some people have a habit of wearing their heart on their sleeve.

" 1. Exposing their innermost feeling to others
X 2. Wasting their time on unnecessary details
< 3. Avoiding being friendly with others

25 4. Saying something that is not to be taken seriously

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Despite the company'’s initial setbacks, they decided to increase their commitment and
invest more resources in the project to ensure its success.

< 1. double agent
#< 2. double back
" 3. double down
& 4. double trouble

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330131417
264330514779
264330514780
264330514781
264330514782
Answered

1

264330137451
264330538430
264330538427
264330538429
264330538428
Answered

1

264330139268
264330545589
264330545588
264330545587
264330545590
Answered

3



Q.8

Ans

Select the option that expresses the given sentence in direct speech.
The teacher told the students to complete their homework before the deadline.

< 1. “Complete your homework before the deadline, ” the students were instructed by the

teacher.

#< 2. “You should complete your homework before the deadline, ” says the teacher to the

students.

" 3. “Complete your homework before the deadline, ” the teacher says to the students.

< 4. “You should complete your homework before the deadline, ” said the teacher.

Question ID :

Option 1 ID

Option 3 ID

Status

Q.9 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

Ans

Q.10

Ans

the correct order to form a meaningful and coherent paragraph.
A. We do not know what to do with our knowledge.

B. Machines should be fed promptly and waited upon attentively, otherwise they refuse

to work or cause destruction.
C. For example, we are unable to manage our machines.
D. Science has given us superhuman powers, which we do not use properly.

< 1.ABDC
# 2.ABCD
« 3.ADCB
X 4.ADBC

Select the most appropriate synonym of the given word.
Whisper

< 1. Plead
< 2. Shout
& 3. Pay

" 4. Murmur

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Question ID :

Option 1 ID

Option 3 ID

264330165105

1264330647547
Option 2 1D :

264330647550

1264330647549
Option 4 ID :

264330647548

: Answered
Chosen Option :

1

26433098168
264330385328
264330385327
264330385325
264330385326
Answered

3

264330168273

1264330659961
Option 2 ID :

264330659960

1 264330659962
Option 4 ID :
Status :

Chosen Option :

264330659959
Answered
4



Q.11 The following sentence has been split into four segments. Identify the segment that

Ans

contains a spelling error.

Half the encantment of the place / was due to the fact / that it did not have / the benefit

of municipal lighting.
" 1. Half the encantment of the place

25 2. that it did not have
/< 3. was due to the fact

< 4. the benefit of municipal lighting

Question ID :

Option 1 ID

Option 3 ID

Status

Q.12 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

Ans

the correct order to form a meaningful and coherent paragraph.

(a) In reality, this continuous accumulation of cheap garments is only possible
because of a constant reduction of production costs.
(b) It felt great until we found out what was hiding behind this trend.

(c) The drop in garment prices over the last 20 years has allowed us to buy more and

more clothes.

(d) This, in turn, has serious consequences on our health, our planet and on garment

workers’ lives.

(e) We now have five times more clothes than our grandparents had.

/< 1. ecbda
< 2. acdbe
" 3. cebad
#< 4. abcde

Question ID

Option 2 ID

Option 4 ID

Q.13 Select the most appropriate ANTONYM of the highlighted word in the given sentence.

Ans

Children adore science fiction movies.

< 1. Discuss
25 2. Benefit
" 3. Despise

< 4. Experience

Question ID :
Option 11D :
Option 2 ID :
Option 31D :

Option 4 ID

264330168006

1264330658911
Option 2 1D :

264330658914

1264330658912
Option 4 ID :

264330658913

: Answered
Chosen Option :

1

1264330123676
Option 11D :

264330484746

1264330484745
Option 31D :

264330484744

1264330484743
Status :
Chosen Option :

Answered
3

264330108895
264330427857
264330427859
264330427858

1264330427860
Status :
Chosen Option :

Answered
3



Q.14 Select the option that expresses the given sentence in passive voice.

Ans

Q.15

Ans

Q.16

Ans

They built a new hospital in the city centre.
< 1. Anew hospital is being built in the city centre by them.

/< 2. They were building a new hospital in the city centre.
" 3. Anew hospital was built in the city centre by them.

25 4. They have built a new hospital in the city centre.

Select the option that expresses the given sentence in passive voice.
Sita will buy the books.

#< 1. The books would have been bought by Sita.
" 2. The books will be bought by Sita.

25 3. Sita have bought the books.

X 4. Sita would bought the books.

Select the option that expresses the following sentence in active voice.

The painting was admired by art enthusiasts from around the world.
#< 1. Art enthusiasts have been admiring the painting from around the world.
#< 2. The painting had been admired by art enthusiasts from around the world.
" 3. Art enthusiasts from around the world admired the painting

#< 4. The painting will have been admired by art enthusiasts from around the world.

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status

Chosen Option :

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330164663
264330645826
264330645823
264330645824
264330645825
Answered

3

264330168346
264330660250
264330660249
264330660248
264330660247

: Answered

2

264330169738
264330665651
264330665652
264330665653
264330665654
Answered

3



Q.17 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

Ans

the correct order to form a meaningful and coherent paragraph.

A. It consists of a very strong vessel made of aluminium alloy, with a lid that fits tightly

on the top.
B. The lid can be sealed on to the vessel by means of a rubber ring.

C. At the centre of the lid there is a vent, or hole through which steam can escape.
D. A pressure cooker is a vessel in which food is cooked in steam under pressure.

< 1.ABCD
« 2. DABC
< 3.DBAC
# 4.BDAC

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

Q.18 The following sentence has been split into four segments. Identify the segment that

Ans

contains a spelling error.

By this discrimineting title / | do not intend to suggest / a rebuke / to conductors

generally.
25 1.arebuke

" 2. By this discrimineting title
X 3. to conductors generally

25 4.1do not intend to suggest

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Q.19 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

Ans

the correct order to form a meaningful and coherent paragraph.

(a) The same year, Frank Drake launched the first SETI search, Project Ozma, by

pointing a large radio telescope at two nearby sun-like stars to see if he could detect

any radio signals coming from them.

(b) These first, foundational attempts to detect radio or laser signals from another

civilization were all looking for focused, powerful signals that would have been

intentionally sent to the solar system and meant to be found.

(c) Following the invention of the laser in 1960, astronomers showed that visible light

could also be detected from distant planets.

(d) The modern scientific search for extraterrestrial intelligence began in 1959 when
astronomers, Giuseppe Cocconi and Philip Morrison, showed that radio transmissions

from Earth could be detected by radio telescopes at interstellar distances.

«" 1. dacb
25 2. dbac
< 3. acdb
< 4. abcd

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

26433096965
264330380597
264330380599
264330380600
264330380598
Answered

2

264330168008
264330658922
264330658921
264330658920
264330658919
Answered

2

264330123678
264330484753
264330484754
264330484752
264330484751
Answered

2



Q.20 Parts of the following sentence have been given as options. Select the option that

Ans

contains an error.

Some people say | take down my father but you are the only one who thinks | look

similar to my mother.
25 1. similar to my mother.

" 2. Some people say | take down
< 3. only one who thinks I look
< 4. my father but you are the

Q.21 Select the grammatically correct sentence.

Ans

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

25 1. An old man who was found dead on the track wore an red shirt with no sleeves.

#< 2. The old man who was found dead on an track wore the red shirt with no sleeves.

4" 3. The old man who was found dead on the track wore a red shirt with no sleeves .

X 4. Aold man who was found dead on a track wore a red shirt with no sleeves.

Q.22 Select the INCORRECTLY spelt word.

Ans

25 1. Millennium
" 2. Resistence
#< 3. Assassination

X 4. Caribbean

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

264330168325
264330660166
264330660163
264330660165
264330660164
Answered

2

264330136343
264330534144
264330534145
264330534146
264330534143
Answered

3

1264330142383

264330557813

1 264330557814

264330557811

1 264330557812

Answered
4



Q.23 Select the option that expresses the given sentence in active voice.

Ans

Q.24
Ans

A mango is eaten by John.
25 1. John likes to eat a mango

X 2. John is eating mango.
< 3. John eat a mango.

«” 4. John eats a mango.

Select the INCORRECTLY spelt word.
< 1. Incidentally

25 2. Weird
" 3. Noticable
25 4. Vicious

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Question ID

Option 2 ID

Q.25 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

Ans

the correct order to form a meaningful and coherent paragraph.

A.You all think, don’t you, that you are nearly grown up.

B.The same thing will happen to you too.

C.l thought so when | was your age; and now, after eighty-one years of that
expectation, | have not grown up yet.

D.You will escape from school only to discover that the world is a bigger school, and

that you are back again in the first grade.
& 1.ABCD

# 2. BACD
X 3.ABDC
« 4.ACDB

Question ID :
Option 11D :
Option 2 1D :

Option 3 ID

Status

264330171577
264330672925
264330672924
264330672926
264330672923
Answered

4

1264330142385
Option 11D :

264330557819

1264330557822
Option 31D :
Option 4 1D :

Status :

Chosen Option :

264330557820
264330557821
Answered

1

264330117434
264330461779
264330461777

1264330461780
Option 4 1D :

264330461778

: Answered
Chosen Option :

2



Q.26 Select the most appropriate meaning of the given idiom.

A man of straw
Ans X 1.Aman of character

X 2. Agenerous man
#< 3. Aman with no means

" 4. A weak or cowardly man

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

Q.27 Parts of the following sentence have been given as options. Select the option that

contains an error.
I don’t exactly know where the address is but | can ask people out.

Ans X 1.know where the
" 2. can ask people out
25 3.1don’t exactly
X 4. address is but |

Q.28 Select the option that expresses the given sentence in indirect speech.

The cop said to the thief, “How have you entered the secured area?”
Ans X 1. The cop wanted to know how the thief enters the secured area.

/5 2. The cop asked the thief how he has entered the secured area.
25 3. The cop asked the thief how has he entered the secured area.

" 4. The cop asked the thief how he had entered the secured area.

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status

Chosen Option :

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330141629
264330554847
264330554850
264330554849
264330554848
Answered

2

264330168324
264330660160
264330660162
264330660159
264330660161

: Answered

2

264330164703
264330645971
264330645973
264330645972
264330645974
Answered

4



Q.29 Select the option that expresses the given sentence in passive voice.

Ans

Q.30 Select the option that expresses the following sentence in indirect speech.

Ans

They have already discussed the poem.
25 1. They discussed the poem already.

#< 2. The poem was discussed by them.
#< 3. The poem will be discussed later.

" 4. The poem has already been discussed by them.

She said to him, “I don’t believe you.”
& 1. She said that she did not believe him.

#< 2. She said she don’t believe him
#< 3. “Do you believe him?” She asked.

X 4. He was not believed by her.

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

Q.31 The following sentence has been split into four segments. Identify the segment that

Ans

contains a grammatical error.

My aunt, Sudha, has stitch / dresses for us / every year since / we were children.

«" 1. My aunt, Sudha, has stitch
#< 2. every year since
< 3. dresses for us

< 4. we were children

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330169824
264330665984
264330665983
264330665986
264330665985
Answered

4

264330164205
264330644068
264330644067
264330644070
264330644069
Answered

1

264330137221
264330537515
264330537517
264330537516
264330537518
Answered

1



Q.32 Select the most appropriate preposition to fill in the blank.

Ans

We had to learn all the tables
« 1.by
2< 2. within
& 3.in
# 4. with

heart.

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Q.33 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

Ans

the correct order to form a meaningful and coherent paragraph.
A.The competition is fierce. The measures of success are subjective.
B.Making a living as a writer has always been an elusive pursuit.

C.The critic Elizabeth Hardwick said that there were really only two reasons to write:

desperation or revenge.

D.Even many people at the top of the profession can’t wholeheartedly recommend it.

« 1.BCDA
# 2.ACDB
< 3.BADC
X 4.DBCA

Q.34 Select the sentence that has a grammatical error.

Ans

" 1. An university is defined by its pupils.

< 2. She is an American.

#< 3. When going out in the sun, it is advisable to take an umbrella with you.

< 4. Ranjit couldn’t make such a blunder. He is an honourable man.

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330164314
264330644471
264330644474
264330644473
264330644472
Answered

3

264330122805
264330481289
264330481288
264330481290
264330481287
Answered

3

264330168032
264330659016
264330659017
264330659015
264330659018
Answered

1



Q.35 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

Ans

Q.36

Ans

the correct order to form a meaningful and coherent paragraph.

A. In his work Yogasutras, Patanjali outlined the foundational principles and methods
of yoga (yoga aphorisms).

B. He said that the human body contains centres called Chakra and conduits called
Nadi.

C. If these are activated, the body's kundalini energy, which is a secret source of
strength, might be unleashed, giving the body superhuman abilities.

D. He provides eight steps that help one to achieve mental calmness.

< 1.BDAC
& 2.ADCB
" 3.ABCD
7 4.BCAD
Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID :
Status :
Chosen Option :

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct logical order to form a meaningful and coherent paragraph.

A.Therefore, we should make hygiene a habit since it is essential for excellent physical
and mental health.

B.The art of keeping our body, mind, residence, workspace, and surroundings clean is
referred to as cleanliness.

C.The cleanliness of our surroundings and environment is critical for our social and
mental well-being.

D.Cleaning clothes, cleaning streets, cleaning surroundings, cleaning homes and
personal cleanliness are all examples of cleanliness.

2 1.ABCD
/< 2.CDBA
< 3.BACD
« 4. BDCA
Question ID :
Option 1 ID
Option 2 1D :
Option 3 ID
Option 4 ID :
Status

Chosen Option :

1 26433098157

264330385284

1264330385283

264330385281
264330385282
Answered

3

264330117482

1264330461954

264330461955

1264330461956

264330461953

: Answered

4



Q.37 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

Ans

Q.38 Select the most appropriate option to fill in the blank.

Ans

the correct order to form a meaningful and coherent paragraph.

A. There are hundreds of acupuncture points on the body.

B. Acupuncture, a system of treatment of disease, has been practised in China for

nearly five thousand years .

C. It consists of the rapid insertion of steel needles, about six centimetres long, in

particular spots on the body of the patient.

D. After inserting the needles, the doctor twirls it between his thumb and forefinger.

«" 1.BCDA
# 2.BDCA
X 3.ACBD
X 4.CABD

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

Western culture does not identify any one group or idea, but rather tendencies within
cultural thought and practises that emphasise the struggle of the individual over the

of the collective.

«" 1. plight

< 2. delight
#< 3. joy

< 4.renege

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

Q.39 Parts of the following sentence have been given as options. Select the option that

Ans

contains an error.
Raju ate the mangoes greedy.

X 1. ate
< 2.Raju

< 3. the mangoes

«" 4. greedy.

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

26433096967
264330380605
264330380608
264330380606
264330380607
Answered

1

26433098932
264330388384
264330388383
264330388382
264330388381
Answered

1

264330169582
264330665048
264330665047
264330665049
264330665050
Answered

4



Q.40 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

Ans

Q.41

Ans

Q.42

Ans

the correct order to form a meaningful and coherent paragraph.

A.One day, | announced that we were being given music lessons.

B.To her, music had lewd associations.

C.It was the monopoly of harlots and beggars and not meant for gentlefolk.
D.My grandmother was very disturbed.

«" 1.ADBC
< 2.ABDC
< 3.ABCD
< 4.ACBD
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Select the most appropriate synonym of the given word.
Insert
X 1. Fix
25 2. Assemble
«" 3. Enter
< 4. Make
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :
The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
Mr. Amit Kumar Singh / had worked with / us since / May 2018.
" 1. had worked with
< 2. Mr. Amit Kumar Singh
< 3. May 2018
#< 4. us since
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330117429
264330461758
264330461759
264330461757
264330461760
Answered

1

264330168293
264330660036
264330660038
264330660037
264330660035
Answered

3

264330137222
264330537520
264330537519
264330537522
264330537521
Answered

1



Q.43 Select the option that expresses the given sentence in indirect speech.

Ans

Q.44

Ans

Q.45

Ans

The chief cook replied, “I will not leave you.”
25 1. The chief cook says that he will not leave him.

«" 2. The chief cook said that he would not leave him.
#< 3. The chief cook said that he will not leave him.

/5 4. The chief cook replied that he would not leave you.

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :
Select the option that expresses the given sentence in direct speech.
The man told the crowd that he hadn’t had his food for the last three days.
#< 1. The man told the crowd, “l won’t have my food for the last three days.”
< 2. The man told the crowd, “| don’t have my food for the last three days.”
< 3. The man told the crowd, “I couldn’t have my food for the last three days.”
" 4. The man told the crowd, “| haven’t had my food for the last three days.”
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :
Select the option that expresses the given sentence in passive voice.
The teacher praised the students for their hard work.
X 1. The teacher was praised by the students for their hard work.
«" 2. The students were praised by the teacher for their hard work.
25 3. The teacher praises the students for their hard work.
#< 4. The students have been praised by the teacher for their hard work.
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330164700
264330645961
264330645962
264330645959
264330645960
Answered

4

264330136456
264330534585
264330534583
264330534584
264330534586
Answered

4

264330164662
264330645821
264330645819
264330645822
264330645820
Answered

2



Q.46 Select the sentence which gives the most appropriate meaning of the given idiom.

Ans

Q.47

Ans

Q.48

Ans

Hit the nail on the head.
#< 1. Mike bought a new car from the dealership.

/< 2. Amy and John went to the beach for a relaxing vacation.
#< 3. Tom missed the bus and had to walk to work.

" 4. The teacher explained the difficult concept clearly.

Select the option that expresses the given sentence in or indirect speech.

Rashmi told her mentor, “I can’t wait to go on vacation.”
" 1. Rashmi told her mentor that she couldn’t wait to go on vacation.

#< 2. Rashmi told her mentor that she won’t be waiting to go on vacation.
#< 3. Rashmi told her mentor whether she couldn’t wait to go on vacation.

2< 4. Rashmi told her mentor that she couldn’t wait and went on vacation.

Select the most appropriate ANTONYM for the highlighted word.
The cricketer is in sublime form.

25 1. exterior
X 2. superior
" 3. inferior
2< 4. interior

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

Question ID

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330167831
264330658278
264330658277
264330658275
264330658276
Answered

4

1264330164394
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

264330644738
264330644790
264330644789
264330644787
Answered

1

264330120730
264330473137
264330473136
264330473135
264330473138
Answered

2



Q.49 Select the INCORRECTLY spelt word.

Ans

Q.50

Ans

Q.51

Ans

#< 1. Cancelled

25 2. Consecutive
25 3. Independence
+«" 4. Fedaration

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :
Chosen Option
Select the option that expresses the given sentence in reported speech.
He said, “l have been working on the project for months”.
25 1. He had said that he had been working on the project for months.
#< 2. He said that he has been working on the project for months.
#< 3. He says that he has been working on the project for months.
" 4. He said that he had been working on the project for months.
Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :
Chosen Option :
Select the most appropriate option to fill in the blank.
The Principal the back of the student who stood first in the examination.
< 1. broke
25 2. slapped
< 3. beat
«" 4. patted
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

126433092317

264330362566

1 264330362568

264330362565

1 264330362567

Answered

:3

264330137491
264330538586

1264330538584

264330538585

1264330538583

Answered
4

26433098878
264330388168
264330388165
264330388167
264330388166
Answered

4



Q.52 Parts of the following sentence have been given as options. Select the option that

Ans

Q.53

Ans

contains an error.

None of the suggestions that Suresh puts out are legitimate.
5 1. are legitimate

" 2. Suresh puts out
X 3. the suggestions that
25 4. None of

The given sentence has some words with incorrect spellings. Select the most
appropriate option that corrects the spellings.

A strict obsarvance of punctuality will increase the efficiency of the department.

< 1. A strikt observance of punctuality will increase the efficiency of the department.

25 2. A strict observance of punctuality will increase the eficiency of the department.

Question ID :

Option 1 ID

Option 3 ID

Status

" 3. A strict observance of punctuality will increase the efficiency of the department.

< 4. A strict observance of punhuality will increase the efficiency of the department.

Question ID
Option 1 ID

Option 3 ID

Status

Q.54 Sentences of a paragraph are given below. While the first and the last sentences (S1
and S6) are in the correct order, the sentences in between are jumbled up. Arrange the

Ans

sentences in the correct order to form a meaningful and coherent paragraph.
S$1. Elephants are found in India and in Africa.

A.In fact, the two are considered to be different species.

B.An African elephant is larger, with longer tusks and bigger ears.

C.In both countries they live in herds in jungles.

D.The elephants are shy animals and generally keep away from men.

S6. The elephant is a very intelligent animal.

& 1.BDAC
& 2. BACD
X 3.BADC
X 4.BDCA

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :

Status

264330163426

1264330640982
Option 2 1D :

264330640981

1264330640980
Option 4 ID :

264330640979

: Answered
Chosen Option :

1

126433092090
1264330361684
Option 2 1D :

264330361683

1264330361681
Option 4 ID :

264330361682

: Answered
Chosen Option :

3

264330121823
264330477463
264330477464
264330477465
264330477466

: Answered
Chosen Option :

2



Q.55 Select the most appropriate synonym of the given word.

Ans

Reprimand
< 1. Honour

2 2. Generic
+«" 3. Condemnation

2< 4. Endorsement

Q.56 Select the most appropriate synonym of the given word.

Ans

Q.57

Ans

Narrow
#< 1. Straight

25 2. Thick
" 3. Slender
25 4. Curly

Select the most appropriate ANTONYM of the underlined word.

The long delay had made me quite apprehensive.
" 1. Confident

#< 2. Shaky
#< 3. Doubtful
X 4. Uneasy

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Question ID :
Option 11D :
1264330461925
Option 31D :
1264330461928

Status :
Chosen Option :

Option 2 ID

Option 4 ID

264330169204
264330663608
264330663607
264330663609
264330663610
Answered

3

264330168294
264330660040
264330660039
264330660042
264330660041
Answered

3

264330117474
264330461927

264330461926

Answered
4



Q.58 Select the most appropriate option to fill in the blank.

abortion have been and challenging.
Ans " 1.arduous
2 2. facile
< 3. trivial
2 4. mild
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Q.59 What does the idiom ‘Behind the eight ball’ mean?
Ans & 1. In a difficult or disadvantaged position
#< 2. In a favourable position
2% 3. Playing pool or billiards
X 4. Having eight balls as a possession
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :
Q.60 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A.We have a mango tree in our village.
B.Do not eat it.
C.Just take a bite.
D.Come visit us, and | will give you a mango from there.
Ans " 1. ADBC
2~ 2.ABCD
2 3.ADCB
< 4. ABDC
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Attempts to transition from nearly total criminalisation to partial decriminalisation of

Chosen Option :

26433098928
264330388366
264330388367
264330388368
264330388365
Answered

3

264330172271
264330675649
264330675648
264330675647
264330675650
Answered

1

264330117433
264330461775
264330461774
264330461773
264330461776
Answered

1



Q.61

Ans

Select the option that expresses the given sentence in active voice.

By whom was the entire house decorated?
#< 1. Who can decorate the entire house?

< 2. Who had decorated the entire house?
< 3. Who will decorate the entire house?

" 4. Who decorated the entire house?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Q.62 Parts of the following sentence have been given as options. Select the option that

Ans

Q.63

Ans

contains an error.
Please pass me an piece of chalk that | can use for the blackboard.

X 1. Please pass me
2< 2.that | can use

" 3. an piece of chalk
25 4. for the blackboard

Select the most appropriate meaning of the given idiom.
Weal and woe

+«" 1. Prosperity and misfortune
#< 2. Well-wishers and critics
X 3. Safe and dangerous place

< 4. High and low level

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330141548
264330554529
264330554528
264330554527
264330554530
Answered

4

264330168321
264330660147
264330660149
264330660148
264330660150
Answered

3

264330169780
264330665812
264330665811
264330665813
264330665814
Answered

1



Q.64 The following sentence has been split into some parts. Identify the part that contains a

Ans

Q.65 Choose the most appropriate meaning of the given idiom.

Ans

grammatical error. If you don’t find any error, mark ‘No error’ as your answer.
Charith speaks so polite / with his neighbours / but they are always very rude to him.

25 1. No error

2 2. with his neighbours
< 3. but they are always very rude to him
4" 4. Charith speaks so polite

Behind the times
< 1. To go crazy

+«" 2. To be old-fashioned
25 3. To do something without making any progress

25 4. To become worse

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Q.66 Parts of the following sentence have been underlined and given as options. Select the

Ans

option that contains an error.
Immediately after the prince got down from his horse to drink some water from the
pond nearby, an eagle flew over the horse and an unicorn ran in front of him.

< 1. the pond
X 2. the prince
" 3. an unicorn

< 4.an eagle

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330135918
264330532526
264330532524
264330532525
264330532523
Answered

4

264330171618
264330673087
264330673088
264330673090
264330673089
Answered

2

264330168031
264330659012
264330659011
264330659014
264330659013
Answered

3



Q.67 Select the most appropriate synonym of the given word.

Ans

Q.68

Ans

Q.69

Ans

Sentry
2 1. Lawyer
2< 2. Parent
+«" 3. Guard
< 4. Clerk
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status
Chosen Option :

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

(a) Nowadays, the most trending domain in wireless communication is Wi-Fi and
internet users are also increasing every year.

(b) The range of data transmission in Li-Fi is 100 times faster than Wi-Fi.

(c) For obtaining better speed, efficiency and bandwidth, Li-Fi technology has evolved.
(d) The data transmission in this technology can be done using light because the light
intensity changes quicker than the human eye for capturing.

(e) Li-Fi-light fidelity is similar to Wi-Fi technology and it is one of the future wireless
communication technologies.

(f) The main feature of this technology includes fully networked, bidirectional and
high-speed wireless.

2 1. abcdef
" 2. efacdb
#< 3. abcfed
X 4. cfedba
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :
The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
We wanted to / get by to him / but he was / against saving.
«" 1. get by to him
#5 2. We wanted to
25 3. against saving
#< 4. but he was
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330168274
264330659965
264330659963
264330659966
264330659964

: Answered

3

264330123675
264330484742
264330484740
264330484739
264330484741
Answered

4

264330140561
264330550596
264330550595
264330550598
264330550597
Answered

1



Q.70 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

Ans

Q.71
Ans

the correct order to form a meaningful and coherent paragraph.

A. Fibres are thin long pieces of material which are spun into threads for making
cloths, ropes, etc.

B. Fibres of natural origin are further classified into two groups: those of vegetable
origin and those of animal origin.

C. Fibres can broadly be classified into two categories: fibres of natural origin and
fibres of artificial origin.

D. Artificial fibres can again be subdivided into two groups: modified forms of natural
fibres and synthetic fibres which are directly synthesised.

< 1.BDAC
< 2.CDAB
«" 3. ACDB
% 4.ABCD

Question ID :

Option 11D :

Option 2 ID :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Budgeting helps us save. Saving can be done by (1) income and expenses. If
your expenses (2) your income, it means you are unable to prioritise your
expenses. First, it is important to (3) your expenses according to the priority. This
will definitely help you to (4) where most of your expenses are done. The money
left after limiting the expenses is your saving and after that you can think of your (5)

SubQuestion No : 71
Select the most appropriate option to fill in blank number 1.
25 1. mixing
" 2. segregating
< 3. joining
25 4. subtracting

Question ID

Option 4 ID

26433096968
264330380611
264330380609
264330380612
264330380610
Answered

4

: 264330117176
Option 11D :
Option 2 1D :
Option 31D :

264330460767
264330460766
264330460765

1264330460768
Status :
Chosen Option :

Answered
2



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and

select the most appropriate option to fill in each blank.

Budgeting helps us save. Saving can be done by (1) income and expenses. If

your expenses (2) your income, it means you are unable to prioritise your

expenses. First, it is important to (3) your expenses according to the priority. This
will definitely help you to (4) where most of your expenses are done. The money

left after limiting the expenses is your saving and after that you can think of your (5)

SubQuestion No : 72

Q.72 Select the most appropriate option to fill in blank number 2.

Ans

Q.73
Ans

25 1.impede
< 2. follow
«" 3. exceed
X 4. recede
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :
Comprehension:
In the following passage, some words have been deleted. Read the passage carefuily and
select the most appropriate option to fill in each blank.
Budgeting helps us save. Saving can be done by (1) income and expenses. If
your expenses (2) your income, it means you are unable to prioritise your
expenses. First, it is important to (3) your expenses according to the priority. This
will definitely help you to (4) where most of your expenses are done. The money
left after limiting the expenses is your saving and after that you can think of your (5)
SubQuestion No : 73
Select the most appropriate option to fill in blank number 3.
+«" 1. categorise
< 2. shape
2< 3. confirm
< 4. disarrange
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330117177
264330460772
264330460771
264330460769
264330460770
Answered

3

264330117178
264330460776
264330460773
264330460775
264330460774
Answered

1



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and

select the most appropriate option to fill in each blank.

Budgeting helps us save. Saving can be done by (1) income and expenses. If

your expenses (2) your income, it means you are unable to prioritise your

expenses. First, it is important to (3) your expenses according to the priority. This
will definitely help you to (4) where most of your expenses are done. The money

left after limiting the expenses is your saving and after that you can think of your (5)

SubQuestion No : 74

Q.74 Select the most appropriate option to fill in blank number 4.

Ans

Q.75
Ans

25 1.take in
" 2. figure out
#< 3. underestimate

X 4. determine

Question ID :
Option 11D :
Option 2 1D :
Option 3 ID
Option 4 ID :
Status :
Chosen Option :
Comprehension:
In the following passage, some words have been deleted. Read the passage carefuily and
select the most appropriate option to fill in each blank.
Budgeting helps us save. Saving canbe doneby (1) ___ income and expenses. If
your expenses (2) your income, it means you are unable to prioritise your
expenses. First, it is important to (3) your expenses according to the priority. This
will definitely help youto (4) _ where most of your expenses are done. The money
left after limiting the expenses is your saving and after that you can think of your (5)
SubQuestion No : 75
Select the most appropriate option to fill in blank number 5.
«" 1. investment
#< 2. contract
< 3. arrangement
< 4. deal
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330117179
264330460777
264330460779

1264330460778

264330460780
Answered
2

264330117180
264330460781
264330460784
264330460782
264330460783
Answered

1



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Courtesy, etiquette and demeanour are words which were of (1)_____ importance till a few
years ago. Formal behaviour has always been an important part of not (2)____ workplaces,
but also at schools and government organisations. However, of late, informality is being
considered cool by many from this generation. This, however, leads to situations where the
language and mannerism (3)____ could be considered rude. Although language has
transformed over time, there is no (4)____for lack of etiquette. There are definitely times and
places where not displaying politeness and manners could lead to (5) consequences.

SubQuestion No : 76

Q.76 Select the most appropriate option to fill in blank number 1.

Ans

Q.77
Ans

25 1. triumph
2< 2. mount
25 3.small

" 4. paramount

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Courtesy, etiquette and demeanour are words which were of (1)_____ importance {ill a few
years ago. Formal behaviour has always been an important part of not (2)___workplaces,
but also at schools and government organisations. However, of late, informality is being
considered cool by many from this generation. This, however, leads to situations where the
language and mannerism (3)____ could be considered rude. Although language has
transformed over time, there is no (4)____for lack of etiquette. There are definitely times and

places where not displaying politeness and manners could lead to (5) consequences.
SubQuestion No : 77
Select the most appropriate option to fill in blank number 2.
< 1. trust
< 2. under
o 3. just
X 4. rarely
Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID

264330117358
264330461482
264330461481
264330461484
264330461483
Answered

3

1264330117359

264330461485

1264330461487

264330461486

1264330461488
Status :
Chosen Option :

Answered
3



places where not displaying politeness and manners could lead to (5) consequences.
SubQuestion No : 78
Q.78 Select the most appropriate option to fill in blank number 3.
Ans X 1. floated
X 2. treated
& 3. communicated
75 4. coated
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Courtesy, etiquette and demeanour are words which were of (1) importance till a few
years ago. Formal behaviour has always been an important part of not (2) workplaces,
but also at schools and government organisations. However, of late, informality is being
considered cool by many from this generation. This, however, leads to situations where the
language and mannerism (3) could be considered rude. Although language has
transformed over time, there is no (4) for lack of etiquette. There are definitely times and
places where not displaying politeness and manners could lead to (5) consequences.
SubQuestion No : 79
Q.79 Select the most appropriate option to fill in blank number 4.
Ans X 1.service
& 2. rescue
#< 3. browse
" 4. excuse
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Courtesy, etiquette and demeanour are words which were of (1)_____ importance till a few
years ago. Formal behaviour has always been an important part of not (2)____ workplaces,
but also at schools and government organisations. However, of late, informality is being
considered cool by many from this generation. This, however, leads to situations where the
language and mannerism (3)_____ could be considered rude. Although language has
transformed over time, there is no (4)____for lack of etiquette. There are definitely times and

Status :
Chosen Option :

264330117360
264330461491
264330461490
264330461489
264330461492
Answered

1

264330117361
264330461496
264330461493
264330461495
264330461494
Answered

4



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Courtesy, etiquette and demeanour are words which were of (1)_____ importance till a few
years ago. Formal behaviour has always been an important part of not (2)____workplaces,
but also at schools and government organisations. However, of late, informality is being
considered cool by many from this generation. This, however, leads to situations where the
language and mannerism (3)____ could be considered rude. Although language has
transformed over time, there is no (4)____for lack of etiquette. There are definitely times and
places where not displaying politeness and manners could lead to (5) consequences.

SubQuestion No : 80

Q.80 Select the most appropriate option to fill in blank number 5.

Ans

Q.81
Ans

25 1. drowsy
X 2. dress
25 3. rickety

" 4. serious

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :
Status :

Chosen Option :

Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Salsais a (1) and exhilarating Latin dance and music genre that originated in the
1960s in New York City. Fusing Cuban and Puerto Rican rhythms with jazz and other
influences, Salsa is an infectious celebration of (2) and rhythm. The dance is
characterised by intricate footwork, dynamic spins, and (3) partner interactions,
expressing joy, sensuality, and cultural heritage. Salsa’s infectious beats and (4)

spirit have transcended borders, captivating dance enthusiasts worldwide. Whether on the
dance floor or (5) its rhythmic melodies, Salsa’s infectious charm unites people,
bridging cultures and spreading the joy of movement and music.

SubQuestion No : 81
Select the most appropriate option to fill in blank number 1.

+«" 1. vibrant

# 2. bright

X 3. scalding

X 4. lifeless
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

264330117362
264330461498
264330461497
264330461499
264330461500
Answered

4

264330172241
264330675529
264330675527
264330675530
264330675528
Answered

3



Comprehension:

In the following passage some words have been deleted. Read the passage carefully and

select the most appropriate option to fill in each blank.

Salsais a (1) and exhilarating Latin dance and music genre that originated in the

1960s in New York City. Fusing Cuban and Puerto Rican rhythms with jazz and other

influences, Salsa is an infectious celebration of (2) and rhythm. The dance is
characterised by intricate footwork, dynamic spins, and (3) partner interactions,

expressing joy, sensuality, and cultural heritage. Salsa’s infectious beats and (4)

spirit have transcended borders, captivating dance enthusiasts worldwide. Whether on the
dance floor or (5) its rhythmic melodies, Salsa’s infectious charm unites people,

bridging cultures and spreading the joy of movement and music.

SubQuestion No : 82

Q.82 Select the most appropriate option to fill in blank number 2.

Ans

Q.83
Ans

2 1. blitz
25 2. glamour
2< 3. expiration

¥ 4. movement

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Comprehension:
In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Salsais a (1) and exhilarating Latin dance and music genre that originated in the
1960s in New York City. Fusing Cuban and Puerto Rican rhythms with jazz and other
influences, Salsa is an infectious celebration of (2) and rhythm. The dance is
characterised by intricate footwork, dynamic spins, and (3) partner interactions,
expressing joy, sensuality, and cultural heritage. Salsa’s infectious beats and (4)
spirit have transcended borders, captivating dance enthusiasts worldwide. Whether on the
dance floor or (5) its rhythmic melodies, Salsa’s infectious charm unites people,
bridging cultures and spreading the joy of movement and music.
SubQuestion No : 83
Select the most appropriate option to fill in blank number 3.
25 1. impassive
2< 2. historic
< 3. depraved
" 4. passionate
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status

Chosen Option :

264330172242
264330675533
264330675534
264330675532
264330675531
Answered

4

264330172243
264330675537
264330675536
264330675535
264330675538

: Answered

4



Comprehension:

In the following passage some words have been deleted. Read the passage carefully and

select the most appropriate option to fill in each blank.

Salsais a (1) and exhilarating Latin dance and music genre that originated in the

1960s in New York City. Fusing Cuban and Puerto Rican rhythms with jazz and other

influences, Salsa is an infectious celebration of (2) and rhythm. The dance is
characterised by intricate footwork, dynamic spins, and (3) partner interactions,

expressing joy, sensuality, and cultural heritage. Salsa’s infectious beats and (4)

spirit have transcended borders, captivating dance enthusiasts worldwide. Whether on the
dance floor or (5) its rhythmic melodies, Salsa’s infectious charm unites people,

bridging cultures and spreading the joy of movement and music.

SubQuestion No : 84

Q.84 Select the most appropriate option to fill in blank number 4.

Ans

< 4. sloppy
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Comprehension:
In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Salsais a (1) and exhilarating Latin dance and music genre that originated in the
1960s in New York City. Fusing Cuban and Puerto Rican rhythms with jazz and other
influences, Salsa is an infectious celebration of (2) and rhythm. The dance is
characterised by intricate footwork, dynamic spins, and (3) partner interactions,
expressing joy, sensuality, and cultural heritage. Salsa’s infectious beats and (4)
spirit have transcended borders, captivating dance enthusiasts worldwide. Whether on the
dance floor or (5) its rhythmic melodies, Salsa’s infectious charm unites people,
bridging cultures and spreading the joy of movement and music.
SubQuestion No : 85
Q.85 Select the most appropriate option to fill in blank number 5.
Ans X 1.though
< 2. across
< 3. throughout
" 4. through
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

2 1.calm

& 2. lazy

" 3. energetic

Chosen Option :

264330172244
264330675542
264330675541
264330675540
264330675539
Answered

3

264330172245
264330675545
264330675546
264330675543
264330675544
Answered

2



Q.86

Ans

Comprehension:
Read the given passage and answer the questions that follow.

Keeping employees happy, motivated, and on the payroll is one of the key concerns to
businesses these days because it's an open market for top talent. A good employee can walk
out of the door today and have a comparable or better job tomorrow. Which brings up a very
important question: what would the companies do to keep away that person from even
thinking about going to work elsewhere? Gone are the days when the monthly pay check and
two weeks' vacation a year were enough to keep employees happy. Employers must come up
with irresistible incentives to keep top talent onboard. The results of a recent survey by
Fortune Magazine on why people leave their jobs shows that 30 percent leave for better
compensation and benefits, 27 per cent for a better career opportunity, 27 per cent for new
experience, 21 per cent are dissatisfied with opportunities at current job, and 16 percent
desire to change careers or Industries. Money is no longer the only major motivator. So, is an
onsite day-care centre for working parents. Paying for all or part of their health insurance? Or
offering educational assistance or paying for certification? On an annual ski trip, paid foreign
tours, onsite car washes and oil changes? Or free laundry and dry-cleaning facilities? Or
prized stock options? Well, it could be anything as long as it can keep the employees
motivated. There are perks other than monetary gains or raise in pay package which can
make employees feel happy and satisfied and promote the feel-good factor.

SubQuestion No : 86

Which of the following reasons is NOT mentioned in the passage with regard to people
leaving their jobs?

«” 1. Family constraint especially after getting married
#< 2. For new experience
25 3. Dissatisfaction with opportunities at current job

#< 4. Better compensation and benefits in new job

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330141641
264330554890
264330554888
264330554889
264330554887
Answered

1



Comprehension:
Read the given passage and answer the questions that follow.

Keeping employees happy, motivated, and on the payroll is one of the key concerns to
businesses these days because it's an open market for top talent. A good employee can walk
out of the door today and have a comparable or better job tomorrow. Which brings up a very
important question: what would the companies do to keep away that person from even
thinking about going to work elsewhere? Gone are the days when the monthly pay check and
two weeks' vacation a year were enough to keep employees happy. Employers must come up
with irresistible incentives to keep top talent onboard. The results of a recent survey by
Fortune Magazine on why people leave their jobs shows that 30 percent leave for better
compensation and benefits, 27 per cent for a better career opportunity, 27 per cent for new
experience, 21 per cent are dissatisfied with opportunities at current job, and 16 percent
desire to change careers or Industries. Money is no longer the only major motivator. So, is an
onsite day-care centre for working parents. Paying for all or part of their health insurance? Or
offering educational assistance or paying for certification? On an annual ski trip, paid foreign
tours, onsite car washes and oil changes? Or free laundry and dry-cleaning facilities? Or
prized stock options? Well, it could be anything as long as it can keep the employees
motivated. There are perks other than monetary gains or raise in pay package which can
make employees feel happy and satisfied and promote the feel-good factor.

SubQuestion No : 87

Q.87 According to the passage, what is NOT a key concern of businesses these days?

Ans

< 1. Motivating employees
/< 2. Happiness of employees
" 3. Criticising the employees’ performance

< 4. Keeping employees on payroll

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330141640
264330554886
264330554884
264330554885
264330554883
Answered

3



Q.88

Ans

Comprehension:
Read the given passage and answer the questions that follow.

Keeping employees happy, motivated, and on the payroll is one of the key concerns to
businesses these days because it's an open market for top talent. A good employee can walk
out of the door today and have a comparable or better job tomorrow. Which brings up a very
important question: what would the companies do to keep away that person from even
thinking about going to work elsewhere? Gone are the days when the monthly pay check and
two weeks' vacation a year were enough to keep employees happy. Employers must come up
with irresistible incentives to keep top talent onboard. The results of a recent survey by
Fortune Magazine on why people leave their jobs shows that 30 percent leave for better
compensation and benefits, 27 per cent for a better career opportunity, 27 per cent for new
experience, 21 per cent are dissatisfied with opportunities at current job, and 16 percent
desire to change careers or Industries. Money is no longer the only major motivator. So, is an
onsite day-care centre for working parents. Paying for all or part of their health insurance? Or
offering educational assistance or paying for certification? On an annual ski trip, paid foreign
tours, onsite car washes and oil changes? Or free laundry and dry-cleaning facilities? Or
prized stock options? Well, it could be anything as long as it can keep the employees
motivated. There are perks other than monetary gains or raise in pay package which can
make employees feel happy and satisfied and promote the feel-good factor.

SubQuestion No : 88

According to the passage, what is the percentage of people who are not satisfied with
the opportunities at their current jobs?

o 1.21%
5 2.24%
& 3.27%
& 4.14%
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330141644
264330554899
264330554902
264330554900
264330554901
Answered

1



Comprehension:
Read the given passage and answer the questions that follow.

Keeping employees happy, motivated, and on the payroll is one of the key concerns to
businesses these days because it's an open market for top talent. A good employee can walk
out of the door today and have a comparable or better job tomorrow. Which brings up a very
important question: what would the companies do to keep away that person from even
thinking about going to work elsewhere? Gone are the days when the monthly pay check and
two weeks' vacation a year were enough to keep employees happy. Employers must come up
with irresistible incentives to keep top talent onboard. The results of a recent survey by
Fortune Magazine on why people leave their jobs shows that 30 percent leave for better
compensation and benefits, 27 per cent for a better career opportunity, 27 per cent for new
experience, 21 per cent are dissatisfied with opportunities at current job, and 16 percent
desire to change careers or Industries. Money is no longer the only major motivator. So, is an
onsite day-care centre for working parents. Paying for all or part of their health insurance? Or
offering educational assistance or paying for certification? On an annual ski trip, paid foreign
tours, onsite car washes and oil changes? Or free laundry and dry-cleaning facilities? Or
prized stock options? Well, it could be anything as long as it can keep the employees
motivated. There are perks other than monetary gains or raise in pay package which can
make employees feel happy and satisfied and promote the feel-good factor.

SubQuestion No : 89

Q.89 What does the phrase ‘gone are the days’ mean?

Ans

< 1. The things that are happening now will no longer happen in future
" 2. The things that used to happen in the past are no longer happening now
< 3. The things that used to happen in the past are still the same

#< 4. The things that used to happen in the past are expected to repeat over coming days

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330141643
264330554895
264330554896
264330554897
264330554898
Answered

2



Comprehension:
Read the given passage and answer the questions that follow.

Keeping employees happy, motivated, and on the payroll is one of the key concerns to
businesses these days because it's an open market for top talent. A good employee can walk
out of the door today and have a comparable or better job tomorrow. Which brings up a very
important question: what would the companies do to keep away that person from even
thinking about going to work elsewhere? Gone are the days when the monthly pay check and
two weeks' vacation a year were enough to keep employees happy. Employers must come up

with irresistible incentives to keep top talent onboard. The results of a recent survey by

Fortune Magazine on why people leave their jobs shows that 30 percent leave for better
compensation and benefits, 27 per cent for a better career opportunity, 27 per cent for new
experience, 21 per cent are dissatisfied with opportunities at current job, and 16 percent
desire to change careers or Industries. Money is no longer the only major motivator. So, is an
onsite day-care centre for working parents. Paying for all or part of their health insurance? Or
offering educational assistance or paying for certification? On an annual ski trip, paid foreign
tours, onsite car washes and oil changes? Or free laundry and dry-cleaning facilities? Or

prized stock options? Well, it could be anything as long as it can keep the employees

motivated. There are perks other than monetary gains or raise in pay package which can

make employees feel happy and satisfied and promote the feel-good factor.

SubQuestion No : 90

Q.90 Select the most suitable title for the given passage.

Ans

Q.91
Ans

25 1. Incentives for Employees

" 2. Challenges to Keep Employees Onboard
< 3. Giving Employees a Feel Good Factor
< 4. Money — A Major Motivator for Employees

Comprehension:
Read the given passage carefully and answer the question that follows.

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

In the mid-1830’s, two ambitious Parisian chemists set out to answer a question. They worked
at a perfume house, distilling cakes, and by night, the men conducted experiments, hoping to

discover the chemical difference between organic and inorganic material.
For centuries perfume was seen as a protection from disease, which was thought to be

transmitted through infected air. They thought ‘the only indication of these infections was the

smell, and thus the best way to preserve health and extend life was to purge one’s
environment of these bad smells.” Bathing, particularly in hot water, was considered a
dangerous invitation to sickness.

Napoleon went through 60 bottles of perfume a month. ‘He doused himself in it, bathed

in it.

He drank it, diluted it with water or wine, and kept a bottle beside him on the eve of every

battle.

SubQuestion No : 91
What is the central theme of the passage?
#< 1. Why Napoleon used perfume

+«" 2. How using perfume came into existence
2< 3. The distilling of cakes

/< 4. Preventive measures of a disease

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330141642
264330554892
264330554891
264330554894
264330554893
Answered

2

264330164215
264330644099
264330644101
264330644100
264330644102
Answered

2



Comprehension:
Read the given passage carefully and answer the question that follows.

In the mid-1830’s, two ambitious Parisian chemists set out to answer a question. They worked
at a perfume house, distilling cakes, and by night, the men conducted experiments, hoping to
discover the chemical difference between organic and inorganic material.

For centuries perfume was seen as a protection from disease, which was thought to be
transmitted through infected air. They thought ‘the only indication of these infections was the

smell, and thus the best way to preserve health and extend life was to purge one’s
environment of these bad smells.” Bathing, particularly in hot water, was considered a
dangerous invitation to sickness.

Napoleon went through 60 bottles of perfume a month. ‘He doused himself in it, bathed

in it.

He drank it, diluted it with water or wine, and kept a bottle beside him on the eve of every

battle.

SubQuestion No : 92

Q.92 Identify the tone of the passage.

Ans

25 1. Provocative
” 2. Grandiose
#< 3. Emotional
#< 4. Curious

Comprehension:
Read the given passage carefully and answer the question that follows.

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

In the mid-1830’s, two ambitious Parisian chemists set out to answer a question. They worked
at a perfume house, distilling cakes, and by night, the men conducted experiments, hoping to

discover the chemical difference between organic and inorganic material.
For centuries perfume was seen as a protection from disease, which was thought to be

transmitted through infected air. They thought ‘the only indication of these infections was the

smell, and thus the best way to preserve health and extend life was to purge one’s
environment of these bad smells.” Bathing, particularly in hot water, was considered a
dangerous invitation to sickness.

Napoleon went through 60 bottles of perfume a month. ‘He doused himself in it, bathed

in it.

He drank it, diluted it with water or wine, and kept a bottle beside him on the eve of every

battle.

SubQuestion No : 93

Q.93 Select the most appropriate title for the passage.

Ans

< 1. Napoleon — the King
#< 2. Two Ambitious Bakers
4" 3. Breakthrough of Perfumes

X 4. Protection of Diseases

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330164217
264330644110
264330644108
264330644109
264330644107
Answered

2

264330164214
264330644098
264330644096
264330644097
264330644095
Answered

3



Q.94

Ans

Q.95
Ans

Comprehension:
Read the given passage carefully and answer the question that follows.

In the mid-1830’s, two ambitious Parisian chemists set out to answer a question. They worked
at a perfume house, distilling cakes, and by night, the men conducted experiments, hoping to
discover the chemical difference between organic and inorganic material.

For centuries perfume was seen as a protection from disease, which was thought to be
transmitted through infected air. They thought ‘the only indication of these infections was the
smell, and thus the best way to preserve health and extend life was to purge one’s
environment of these bad smells.” Bathing, particularly in hot water, was considered a
dangerous invitation to sickness.

Napoleon went through 60 bottles of perfume a month. ‘He doused himself in it, bathed in it.
He drank it, diluted it with water or wine, and kept a bottle beside him on the eve of every
battle.

SubQuestion No : 94
Select the most appropriate ANTONYM of the given word in the context of the passage.

Doused
«" 1. Droughty

25 2. Baffled
< 3. Dipped
7< 4. Mystified

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

Comprehension:
Read the given passage carefully and answer the question that follows.

In the mid-1830’s, two ambitious Parisian chemists set out to answer a question. They worked
at a perfume house, distilling cakes, and by night, the men conducted experiments, hoping to
discover the chemical difference between organic and inorganic material.

For centuries perfume was seen as a protection from disease, which was thought to be
transmitted through infected air. They thought ‘the only indication of these infections was the
smell, and thus the best way to preserve health and extend life was to purge one’s
environment of these bad smells.” Bathing, particularly in hot water, was considered a
dangerous invitation to sickness.

Napoleon went through 60 bottles of perfume a month. ‘He doused himself in it, bathed in it.
He drank it, diluted it with water or wine, and kept a bottle beside him on the eve of every
battle.

SubQuestion No : 95
Identify the fact that is true according to the passage.
< 1. Experiments were conducted to find out if the bathing water could be hot.

< 2. Bitter almonds and oranges were used to treat diseases.
«" 3. They thought using perfume would purge the environment, thus preventing diseases.

/< 4. Bathing in hot water was considered sacred.

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330164218
264330644114
264330644112
264330644111
264330644113
Answered

1

264330164216
264330644104
264330644103
264330644105
264330644106
Answered

3



Comprehension:
Read the given passage and answer the question that follows.

Sirens, mythical creatures from Greek mythology, are often depicted as beautiful, seductive
beings with enchanting voices. In ancient legends, sirens were said to reside on rocky islands
and use their captivating songs to lure sailors towards them, causing shipwrecks. These half-
bird, half-woman creatures possessed an irresistible charm that tempted sailors to their
doom. Their haunting melodies were believed to possess a hypnotic power, capable of
compelling anyone who heard them to approach, despite the dangers that awaited. Sirens
embodied the treacherous allure of the sea, symbolising the temptations and perils that
humans face in their journeys through life. The story of Odysseus and the Sirens in Homer’s
Odyssey is perhaps the most well-known tale involving these captivating creatures. Although
sirens are often portrayed as malevolent, their allure and allure of their songs continue to
captivate our imaginations to this day, serving as a cautionary reminder of the allure and
dangers that can lie in wait, enticing us to venture into the unknown.

SubQuestion No : 96

Q.96 Which genre of literature does the character of sirens belong to?

Ans

#< 1. Romance
" 2. Fantasy
#< 3. Science-fiction

#< 4. Gothic

Question ID :
Option 11D :
Option 2 1D :
Option 3 1D :
Option 4 1D :
Status :

Chosen Option :

Comprehension:
Read the given passage and answer the question that follows.

Sirens, mythical creatures from Greek mythology, are often depicted as beautiful, seductive
beings with enchanting voices. In ancient legends, sirens were said to reside on rocky islands
and use their captivating songs to lure sailors towards them, causing shipwrecks. These half-
bird, half-woman creatures possessed an irresistible charm that tempted sailors to their
doom. Their haunting melodies were believed to possess a hypnotic power, capable of
compelling anyone who heard them to approach, despite the dangers that awaited. Sirens
embodied the treacherous allure of the sea, symbolising the temptations and perils that
humans face in their journeys through life. The story of Odysseus and the Sirens in Homer’s
Odyssey is perhaps the most well-known tale involving these captivating creatures. Although
sirens are often portrayed as malevolent, their allure and allure of their songs continue to
captivate our imaginations to this day, serving as a cautionary reminder of the allure and
dangers that can lie in wait, enticing us to venture into the unknown.

SubQuestion No : 97

Q.97 Which of the following words best describes sirens, according to the passage?

Ans

" 1. Dangerous
X 2. Peaceful
< 3. Bubbly

#5 4. Melancholic

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

264330164261
264330644269
264330644268
264330644267
264330644270
Answered

2

264330164262
264330644273
264330644274
264330644271
264330644272
Answered

1



Comprehension:
Read the given passage and answer the question that follows.

Sirens, mythical creatures from Greek mythology, are often depicted as beautiful, seductive
beings with enchanting voices. In ancient legends, sirens were said to reside on rocky islands
and use their captivating songs to lure sailors towards them, causing shipwrecks. These half-
bird, half-woman creatures possessed an irresistible charm that tempted sailors to their
doom. Their haunting melodies were believed to possess a hypnotic power, capable of
compelling anyone who heard them to approach, despite the dangers that awaited. Sirens
embodied the treacherous allure of the sea, symbolising the temptations and perils that
humans face in their journeys through life. The story of Odysseus and the Sirens in Homer’s
Odyssey is perhaps the most well-known tale involving these captivating creatures. Although
sirens are often portrayed as malevolent, their allure and allure of their songs continue to
captivate our imaginations to this day, serving as a cautionary reminder of the allure and
dangers that can lie in wait, enticing us to venture into the unknown.

SubQuestion No : 98

Q.98 What is the tone of the passage?

Ans

25 1. Excited

4" 2. Cautioning
< 3. Seductive
25 4. Melancholic

Question ID :
Option 11D :
Option 2 1D :
Option 3 1D :
Option 4 ID :
Status :

Chosen Option :

Comprehension:
Read the given passage and answer the question that follows.

Sirens, mythical creatures from Greek mythology, are often depicted as beautiful, seductive
beings with enchanting voices. In ancient legends, sirens were said to reside on rocky islands
and use their captivating songs to lure sailors towards them, causing shipwrecks. These half-
bird, half-woman creatures possessed an irresistible charm that tempted sailors to their
doom. Their haunting melodies were believed to possess a hypnotic power, capable of
compelling anyone who heard them to approach, despite the dangers that awaited. Sirens
embodied the treacherous allure of the sea, symbolising the temptations and perils that
humans face in their journeys through life. The story of Odysseus and the Sirens in Homer’s
Odyssey is perhaps the most well-known tale involving these captivating creatures. Although
sirens are often portrayed as malevolent, their allure and allure of their songs continue to
captivate our imaginations to this day, serving as a cautionary reminder of the allure and
dangers that can lie in wait, enticing us to venture into the unknown.

SubQuestion No : 99

Q.99 What is the central theme of the passage?

Ans

" 1. Sirens and their characteristics

< 2. Difference between sirens and mermaids
X 3. Sirens and their lifecycle

#< 4. Future of Sirens

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330164263
264330644278
264330644275
264330644276
264330644277
Answered

4

264330164260
264330644263
264330644265
264330644264
264330644266
Answered

1



Comprehension:
Read the given passage and answer the question that follows.

Sirens, mythical creatures from Greek mythology, are often depicted as beautiful, seductive
beings with enchanting voices. In ancient legends, sirens were said to reside on rocky islands
and use their captivating songs to lure sailors towards them, causing shipwrecks. These half-
bird, half-woman creatures possessed an irresistible charm that tempted sailors to their
doom. Their haunting melodies were believed to possess a hypnotic power, capable of
compelling anyone who heard them to approach, despite the dangers that awaited. Sirens
embodied the treacherous allure of the sea, symbolising the temptations and perils that
humans face in their journeys through life. The story of Odysseus and the Sirens in Homer’s
Odyssey is perhaps the most well-known tale involving these captivating creatures. Although
sirens are often portrayed as malevolent, their allure and allure of their songs continue to
captivate our imaginations to this day, serving as a cautionary reminder of the allure and
dangers that can lie in wait, enticing us to venture into the unknown.

SubQuestion No : 100

Q.100 Select the most appropriate synonym of the given word in the context of the passage.

Allure
«" 1. Appeal
#< 2. Repulsion
#< 3. Heartily
2 4. Distastefulness

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330164264
264330644280
264330644282
264330644281
264330644279
Answered

1



